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1. OIUC HABYAJIbHOI JUCHUILIIHU

Mera MeTtoro BUBYEHHS 1HO3€MHOI MOBH y HEMOBHOMY BY3l €
HiArOTYBaTH CTYAEHTA JO YWTaHHS JITeparypu 3a ¢axoMm,
CHUJIKYBaHHS aHIIIMCHKOIO MOBOIO B PI3HMX BHJAX MOBHOI
JUSITBHOCT1, MOKJTUBOCTI 11 BUKOPUCTAHHS y MPAKTUYHUX IIIJISX.

Komnerentnicts | K 02 31aTHICTh CIIKYBATUCS] 1HO3EMHOIO MOBOIO

Pesynbrar P 021 - ymiru: 4uratu Ta posymiru (axoBy iHIIOMOBHY JHTEPATYPY;

HABYaHHS nepeKjaagaTu (1)ax0By HiTepaTypy 3 1HO3E€MHOI Ha plI[Hy MOBY Ta HaBIIAKH,

MPOBOJUTH YCHUH OOMIH 1H(pOpMAIEI0 B TPOILECT IMOBCIKISHHUX
KOHTAKTiB 3 METOI OTpUMaHHs iH(opmarii, HeOOXIJHOI Al BUPILICHHS
[IEBHUX 3aBIaHb JISUILHOCTI.

ba3oBi 3HaHHS

1. MeTa BuadeHHS, 3MICT JUCIUAILIIHY.

2. 3HaHHs  ocoOnuBocTe  (DOHETUYHOI, TIpaMaTUYHOI,
MOP(OJIOTIYHOT, CHHTAKCUYHOI CTPYKTYPH aHTIIIMCHKOT MOBH.

3. 3HaHHS BIJMOBIIHOI CIICIIaIbHOT JJEKCHKHU 32 (haxoMm.

ba3oBi BMiHHS

1. UYwratn, mnepewiamatd Ta pedepyBaTH OpUTIHAIBHY
JiTepaTypy 3a ¢paxom Juisi OTpUMaHHs He0OXiIHOT iHhOopMaIIii.

2. bpatn yyacTh B YCHOMY CHUJIKYBaHHI 1HO3EMHOKO MOBOIO B
o0csry Marepiaily, nepeadadeHoro mporpamoro.

ba3oBi HaBUYKH

1. MOXJIMBOCTh BUKOPHUCTAHHS AHTJIIMCHKOI MOBH Y TPAKTUYHUX
IJISX.

2. CHinkKyBaHHsI aHIVIIMCHKOIO MOBOIO B PI3HMX BHJAaX MOBHOI
TISUTBHOCTI.

[ToB’s13ani
cruiadycu

«Ino3zemua moBay» 1 p.H., 3 p.H., 4 p.H.

[Tonepenns
IUCIHUILIIHA

Hacrtynna
IUCIHUILIIHA

KinpkicTs rogux

JIEKITIi:

npaktuyHi 3aHa1T: 60 y 3 cemectpi; 30 y 4 cemectpi
nabopaTopH1 3aHATTS:

CEMIHAPCHKI 3aHATTS:

camocrTiitHa po6ota crynentiB: 30 y 3 cemectpi; 60 y 4 cemecTpi




3 cemecTp

2. MIPOT'PAMA HABYAJIbHOI JUCIUILITHUA

2.2. [IpakTuuni Moaymi 3 cemecTpy

KinpkicTts rogua

Kon Ha3zBa moayns ta rem ayuopHi | CPC
3M- | 1. a) Enviromental problems 4 30 |214
I11 b) Hazardous wastes 4
¢) Soil degradation 4 2
d) 10 ways to conserve soil 4 2
2
e) Grammar: The Infinitive, The participle 8
f) Jlomamne yntanHus (mepexiaj TeKCTy 3a haxom 5 g
Ta MepeKiaj CyCnuIbHO-TIOJITUYHOTO TEKCTY)
2. MonaynbpHa KOHTpOJIbHA poboTta Ne 1 1 1
3M- | 1.a) Water pollution 4 295 |2 13
I12 b) Marine pollution 4 2
c) Air pollution 4 2
d) Problem: pollution 4 2
e) Grammar: The gerund, The non-finite forms of 7,5 2
verbs
f) omaine ynutanns (mepekian Tekcty 3a hpaxom Ta | 5 2
nepeKsaa CyCiabHO-TIOTITUYHOTO TEKCTY)
2. MonaynbpHa KOHTpOJIbHA poboTa Ne 2 1 1
3M-I3 | [IncemMoBHI TIEpEKITa
CemecTpoBa 3aJlikoBa KOHTPOJIbHA poOOTa 0,5
Pazom: 60 30

Koncynpranii:




(HJIK Ne2)

berr Onpra OmeriBHa: 3TiHO 3 3aTBEpUKEHUM Tpadikom, ayautopis 607

2.3. CamocrTiiiHa po6oTa CcTyJieHTa Ta KOHTPOJIbHI 3aX01 Yy 3 cemecTpi

Kon
MOJTYJIsI

3aBnanns Ha CPC Ta KOHTPOJIbHI 3aX0I1

KinpkicTh
TOIVH

Crpox

MIPOBEICHHSA

3M-II1

o [limroToBKa 10 YCHOTO OMUTYBaHHS,
MiATOTOBKA TPaMaTUYHOI TEMH Ta TiATOTOBKA
JIOMAIIIHbOTO YUTAHHS

o [linroToBKa 10 BUKOHAHHS MOJYJIbHOI
KOHTPOJBHOT poboTu Ne 1

Konmponwhi 3axoou:

e YCHE OIUTYBaHHS

o [lepeBipka MMCbMOBO BUKOHAHUX CITHCKIB
HE3HAMOMHMX CJIIB Ta IX MEepPeKIIa I YCHOTO
NepeKIaay TEKCTIB

o [lepeBipka MICHMOBO BUKOHAHHHUX
rpaMaTHYHUX BIIPaB

e MonaynbHa KOHTpoJibHA pob6oTa Ne 1

(000B’s13KOBE)

14

1-7
TOKICHD

3M-I12

o [linroToBKa /10 YCHOTO OMUTYBaHHS,
MiJrOTOBKA rpaMaTUYHOI TEMH Ta MIATOTOBKA
JIOMAIIHBOTO YUTAHHS

e [linroTOBKA JJO BUKOHAHHS MOIYJIHHOL
KOHTPOJIbHOT po6oTu Ne 2
Konumponwni 3axo0u:

e YCHE ONUTYBaHHSA

« [lepeBipka NMCHbMOBO BUKOHAHUX CITUCKIB
HE3HAOMUX CITIB Ta iX MepeKaja st yCHOTO
NepeKaay TEKCTIB

o [lepeBipka MICHMOBO BUKOHAHHHUX
rpaMaTHYHUX BIIPaB

e MonaynbHa KOHTpOJIbHA poOoTa Ne 2

(000B’s13KOBE)

13

8-15
THXKICHb

3M-I3

[linroToBKa MMCHMOBOIO MEpPEKIaaa
Konmponvnuii 3ax00:

e [TuceMoOBHII TIEpEKITIAN
(000B’s13K0OBE)

10 Ta 12
THKHI

[linroToBKa /10 3aJ1IKOBOT KOHTPOJIHLHOT pOOOTH
Konmponwhi 3axoou:
o 3as1iKOBa KOHTPOJbHA POOOTA




Pazom:| 30 |

1. MeTtoarKa IPOBEJICHHS Ta OHiHI-OBaHHSI KOHTPOJIBHOI'O 3aX04y AJIA S3M-III.

MiHIMaJIbHUHM 00cAT 0a30BUX 3HAHD, 1110 HEOOX1HHH U 3aCBOEHHS 3M —
I11:

— YHTaTH, IEPEKIIAIaTH Ta IepekasyBaT TekcTH “ Enviromental problems
”, “ Hazardous wastes”, “Soil degradation”, “10 ways to conserve soil”;

— TOSICHUTH BXKMBaHHS 1H(IHITHBA Ta A1€MNPUKMETHHKIB;

— HaABUYWTHUCS YTBOPIOBATH pi3HI (popMHU iH(IHITHBA Ta JIEMTPUKMETHUKIB;

— TMEepeKIacTy TEKCT 3a (haxoM 3 aHTIIIHCHKOI Ha YKPAiHChKY MOBY;

— TMEepeKIacTy CYyCNUTFHO-TIOMITUYHUHN TEKCT 3 aHTIIHCHKOI Ha YKPAiHChKY
MOBH.

MakcumanbHa cyma 6aiB 3a 000B’3K0B1 3ax0u KOHTpo:ato 3 3M-II1 — 45 Ganis:

1 3aBanHsg — 27 OaiB:

JuB. Tabm1. 2.2

a) 4 (1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKiIaa
1 — ycHull nepekaa TEKCTy
1 — mepekas TekcTy

b) 4 (1+1+1+1)
1 — yuTaHHS TEKCTY aHTIIIHCHKOI MOBOO
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — ycHu#t mepekaa TeKCTy
1 — nmepekas TekcTy

c) 4 (1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — ycHu#l nepekiaa TeKCTy
1 — nepekas TekcTy

d 4 (1+1+1+1)
1 — y”TaHHA TEKCTY aHIIIHCHKOIO MOBOIO
1 — ciucok He3HAOMUX CIIIB Ta iX MepeKIa
1 — ycHuii nepekaa TEKCTy



1 — nepekas TekcTy

e) 3 (1+1+1)
1 — nuceMmoBHit koHcmeKT mpaBui po The Infinitive Ta The Participle
1 — nmucbMOBO BUKOHAHHI TpaMaThyHi BripaBu no The Infinitive
1 — mucpMOBO BUKOHAHHI IrpamaTruHi BripaBu 1o The Participle

f) 8 (4+4)

4 (1+1+1+1) mnepexiaaTekcTy 3a Gpaxom
1 — cicok He3HAHOMUX CIIIB Ta iX TepeKIIa
1 — ycHu#t nepexaa TeKCTy
1 — nuchbMOBO BUKOHaHHE Summary
1 — ycue Summary

4 (1+1+1+1) mnepeknaa CycrnibHO-TIOMITUIHOTO TEKCTY
1 — cnicok He3HAHOMUX CIIIB Ta iX MepeKia
1 — ycHull nepekiaaa TEKCTy

1 — nucbMOBO BUKOHAHHE Summary
1 — ycae Summary

1 3aBnanns (27 6aniB) He € 000B’SI3KOBUM.

2 3apnaHHsI— 45 Ganis:

Bukonanasg MKP Ne 1

MonynbpHa KOHTpoJIbHAa poOoTta ckiamaerbes 3 30 3aBmanb. Koxkne 3aBmanns 1,5
O0aniB. MoaylbHa KOHTPOJIbHA POOOTAa BBAXKAETHCS 3apaxOBaHOIO, SKIIO HAJAHO

MIHIMYM 16 NMpaBUIBHUX BIANOBIACH.

Axmo 3axoan 000B’A3KOBUX (POPM KOHTPOJIO BHKOHYIOTHCS CTYAEHTOM
HiCHsl CTPOKIB, BU3HAYEHUX Y IIPOrpaMi HaBYAIbHOI IUCLUUIUIIHHU, KIJTBKICTh OaiB,
0 MOXK€ OTpUMAaTH CTYAEHT, HE MoOxke mnepeBuuryBatd 60% Bil MakCHUMAaJIbHO

MOXJIMBOI1 JUIs 11i€1 (HOPMHU KOHTPOJIIO.

Ominka 3a okpemi (a0o yci) MOJIyJl 3HUKYETHCS y pa3l MPOIYCKIB 3aHATH
CTYJIEHTOM. 3a KOKHE TIPOIyIIeHE 3aHATTS 3HWKYyeThesa 0,5 6ana, ane MiHIMaabHA
OLIIHKA MiCIIsl 3HWKEHHS He MOXke OyTu Hmk4ua 60% BiJl MaKCHMaIbHO MOKIIUBOI.

2 3aBaanHd (45 6amiB) € 000B’ A3KOBUM




2. MeToauka IPOBEJICHHS Ta OHiHIOBaHHH KOHTPOJIBHOI'O 3aX0oAy JJIA 3M-I12.

MiHIMaJIbHUHM 00CcAT 0a30BUX 3HAHB, 1110 HEOOX1HHH U 3aCBOEHHS 3M —
I12:

- 4YWTaTH, IepekiIazaTh Ta nepekasyBatu Temu “Water pollution”, “Marine
pollution”, “Air pollution”, “Problem: pollution”;

— TOSCHHUTH BXXUBAHHS TEPYHIS |

— HaBYUTHCS YTBOPIOBATH Pi3HI (HOpMHU repyHIisl.

— HABUYWTHUCS BIJPI3HATH MK 0000 Pi3HI HEOCOO0B1 hOPMU TIECIIB;

— TIEPEKJIACcTH TEKCT 3a (aXxoM 3 aHTJIIHCHKOI Ha YKPaiHChKY MOBY;

— TMEepeKIacTy CYyCNUTbHO-TIOMITUYHUM TEKCT 3 aHTIIHCHKOI Ha YKPAiHChKY
MOBH.

MakcumanbHa cyma 6aniB 3a 000B’A3K0B1 3aX011 KOHTpouIto 3 3M—I12— 45 Ganis:

1 3aBmaHHsa — 27 OaniB:

JuB. Tabm. 2.2

a) 4 (1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKiIaa
1 — ycHui#l nepeknaa TEeKCTy
1 — nmepekas TekcTy

b) 4 (1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — ciucok He3HAMOMMX CJIIB Ta iX MepeKiIaa
1 — ycHu#t mepekaaa TeKCTy
1 — mepekas TekcTy

c) 4 (1+1+1+1)
1 — ynuTaHHS TEKCTY aHTJIIHCHKOK MOBOIO
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — ycHult nepekaa TeKCTy
1 — nmepekas TekcTy

d 4 (1+1+1+1)
1 — yuTaHHA TEKCTY aHIIIHCHKOIO MOBOIO
1 — cMcok HE3HAMOMHX CJIIB Ta iX nepexKinan



1 — ycHuil nepekiaaa TEKCTy
1 — nepekas TeKCcTy

e) 3 (1+1+1)
1 — nmuceMoBHit KoHcIeKT mpaBuil ipo The Gerund ta The non-finite forms of
verbs
1 — mrcbMOBO BUKOHAHHI TpamMaTHyHi Bripasu 1o The Gerund
1 — nmrcpMOBO BUKOHAHHI TpamMaTtuyHi Brpasu 1o The non-finite forms of verbs

f) 8 (4+4)

4 (1+1+1+1) mnepeknaaTEKCTy 3a Gpaxom
1 — cnicok He3HAHOMUX CIIIB Ta iX MepeKia
1 — ycHu#t nepexsaa TeKCTy
1 — nuchbMOBO BUKOHaHHE Summary
1 — ycue Summary

4 (1+1+1+1) mnepeknaa CycribHO-TIOTITUYHOTO TEKCTY
1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKiIaa
1 — ycHull nepekaa TEKCTy

1 — nucbMOBO BUKOHAHHE Summary
1 — ycae Summary

1 3aBnanus (27 6aiB) He € 00OB’SI3KOBUM.

2 3aBnaHHsI— 45 Ganis:

Buxonanag MKP Ne 2

MopynbHa KOHTpOJbHA poOoTa ckiamaethest 3 30 3aBnanb. Koxxkne 3aBganus 1,5
O0aniB. MojaylibHa KOHTPOJIbHA POOOTA BBAXKAETHCS 3apaxOBaHOIO, SKIO HAJAHO
MiHIMYM 16 MpaBUIILHUX BIJTIOBIICH.

Ao 3axoau 000B’A3KOBUX (POPM KOHTPOJIO BUKOHYIOTHCS CTYAEHTOM
MICTIsl CTPOKIB, BU3HAYCHUX y TIPOrpaMi HaBYAIBHOI IUCIUIUTIHHU, KIJTBKICTh OaiB,
0 MOKE€ OTPUMATH CTYACHT, HE MOXke mepeBunryBaTd 60% Bil MaKCHUMAalIbHO
MO>KJIMBOI JUTSI ITi€1 pOPMHU KOHTPOJTIO.

Ominka 3a okpemi (a0o yci) MOIyJl 3HMXKYETBCS y pa3l MPOIYCKIB 3aHATH
CTYJIEHTOM. 3a KOKHE TPOIyIIeHE 3aHATTS 3HUKYyeThesa 0,5 6ana, ane MiHIMaabHA
OLIIHKA MiCIIsl 3HWKEHHS He MOXke OyTu Hmk4ua 60% BiJl MaKCHMaIbHO MOKIIUBOI.
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2 3aBnaHHd (45 6amiB) € 000B’ I3KOBUM

3. MeToarka IpoOBEIECHHS TAa OIIHIOBAHHS 1HIIBIAVAIBHOTO 3aBIAHHS 3M-13
(MUCHBMOBOTO TIEPEKIIANY) .

[HaiBiqyanbHe 3aBAaHHS 1€ NMUCBMOBHM Tepekian nBox BuaiB TekctiB (15 000
np.3HakiB). 1. Ilepexmanm tekcty 3a daxom (10 000 mp.3makiB). 2. Ilepexman
CyCIUIbHO-TIONMITHYHOT Jiekciku (5 000 mp.3HaKiB).

MiHiManbHHN 00CAT THCHMOBOTO TEPEKIany, 10 HEOOXITHWM I 3aCBOEHHS
HAaBHYOK POOOTH 3 iHO3eMHHUM TeKCTOM ckiiagae 15 000 ap. 3HaKiB 3a cemecTp.

[lepexkmam TekcTy 3a (paxoM OIIHIOETbCS B 5 OaliB, Mepekiaa CyCIUIBHO
MOJITUYHOT JICKCIKM OLIHIOETHCS TeX B 5 OaiiB. YChoro iHIBiAyajbHE 3aBAaHHS

oiHOeTHCeS B 10 OaniB.

[npiBigyansHe 3aBaanHs (10 6aniB) € 000B’SI3KOBHM.

4. MeTOI[I/IKa IIPOBCACHHA Ta OHiHIOBaHHSI CEMECTPOBOI0 KOHTPOJILHOI'O 3aX01V.

3aikoBa ceMecTpoBa KOHTpOJbHAa poOoTa ckiamaerbcsi 3 20 3aBnanb. KokHe
3aBAaHHs S5 OaiB. 3ajikoBa KOHTPOJIbHA pOOOTAa BBAXKAETHCS 3apaXxOBaHOIO, SKIIO
HaJaHo MiHIMyM 10 MpaBWIBHUX BIAIOBIICH.

KoHTposb MOTOYHNX 3HAHb BUKOHYETHCSI HA 0a31 HAKOMMYYBaJIbHOI CUCTEMU
opraHizailii HaB4YaHHs.

daktiyHa cyma OaiiB, sIKy OTPUMYE CTYACHT 3a TMEBHUM 3MICTOBHUMN
MOJAYJIb, MAa€ CKJIQJIaTHUCA 13 pe3yJbTaTiB BUKOHAHHS 3aXO/iB 3 KOHTPOJIO, IIO
3aIJIaHOBaHI 3a MM 3MICTOBHUM MOJIyJIEM, Ta YPaxOBYBaTH CBO€YACHICTH
(HanpuKIaa: CTYOEHT, SKUWA TPOMYCTHB KOHTPOJBHUN 3axil 0€3 TOBaXKHHX
OpUYUH a00 OTPMMAaB HE3aJIOBUIBHY OLIIHKY, Ma€ MpaBO y THKHEBUM TepMiH
BUKOHATH 3aBJIaHHS I[LOTO 3aX0]ly 3 MAaKCUMaJIbLHOI CYMOIO 0aliB, €KBIBAJICHTHOIO
OLIHII He OuIbImid HDK "3a70BUTHHO") BUKOHAHHS CTYIEHTOM Tpadiky
HABYAJILHOTO TPOIIECY.

Cymu OaniB, sIKI OTpUMaB CTYJEHT 3a BCiMa 3MICTOBHUMHU MOJIYJSIMH HaB-
YaIbHOI JUCHUIUIIHU, (OPMYIOTh KITBKICHY OIIHKY (0anm ycmimHocTi) 3a
HiCYMKaMH TOTOYHUX KOHTPOJIOIOUMX 3aXOIB CTyJEHTAa 3 HaBYaJbHOI
JUCHMIUTIHU. Pe3yiabTaTh MOTOYHOTO KOHTPOJIIO 3aHOCATHCSA 10 1HTErpajibHOI
BifoMocTi. PimieHHs mpo JOmycK CTyJAeHTa 10 MiACYMKOBOT'O CEMECTPOBOIO
KOHTPOJIIO 3 KOHKPETHOI HaBYaJIbHOI TUCIUIUIIH periaMeHTyeTbes [lomoskeHHsaM
PO MPOBEACHHS MJICYMKOBOTO KOHTPOJIIO 3HaHb CTYCHTIB.
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CTyaeHT BBaXA€TbCA JIOMYIICHWM JO IJACYMKOBOTO CEMECTPOBOTO
KOHTPOJTIO, SIKIIIO BiH BUKOHAB BC1 BUJIU POOIT, mependadeHi poOouor0 HaBYaIbLHOIO
MPOTPaMOI0 TUCITUILIIHY 1 HAOpaB 3a MOYJIBHOI CHCTEMOIO CyMy OalliB HE MEHIIIe
50 (50%) Bim MakcuMalbHO MOXKJIHBOI (000B’s3koBa vactmHa 100 OaiiB) 3a
NPAKTHYHY YACTHHY.

[1icyMKOBUM KOHTPOJIEM 3HAHB CTYJICHTIB € 3aJiK.

CTyneHT OTpUMY€ 3aJliKk, KOJM BIH Ma€ Ha OCTaHHIA JIEHb CEMECTpY
IHTErpaJibHy CyMy OalliB IOTOYHOTO KOHTPOII0, foctatHio (60% Ta OinmbIie) s
OTPUMAaHHS IMO3UTHBHOI OIIHKK Ta He MeHIIe S0% Bix MaKCMMAJIbLHO MOKJINBOI
cymHu 0ajiB Ha 3aJIiKOBiH KOHTPOJIbHI podoTi.

InTerpanpHa ominka (B) mo aucuurmuiiHi po3paxoByeThes 3a HOPMYIIO0

B =0,75x 03+ 0,25 x O3KP,

ne O3 — kinbKicHa OIiHKAa (y BIJCOTKax BIJ MaKCUMaJIbHO MOXIIMBOI) 3a
3MICTOBHUMH MOJIYJISIMU;
O3KP - kinbkicHa omiHKa (y BIACOTKaX BiJI MaKCHUMaJIbHO MO>KJIUBOI)

3aJIIKOBOi KOHTPOJIBHOI POOOTH.

3. PEKOMEHJAILII IO CAMOCTIMHOI POBOTH CTYJIEHTIB

3.1. Mooyas 3M-IT1 *“ Enviromental problems”, “ Hazardous wastes”,
“Soil degradation”, “10 ways to conserve soil”’, The Infinitive, The Participle.

Jlitreparypa: [1, C. 6 -14, 27 - 35]
3.1.1. IToBuanHus

a) Text A. “ Enviromental problems ”

1. [IpounTaTy TEKCT aHIMTIMCHKOIO MOBOIO.

2. BunucaTu 3 TEKCTY HOBI CJIOBa Ta 3pOOUTH iX MEPEKIa.

3. YCHO nepeKs1acTu TEKCT 3 aHTIHChKOI Ha YKPaiHChKY MOBY.
4. Ilepeka3atu TEKCT.

b) Text B. “ Hazardous wastes ™.

1. [IpounTaTy TEKCT aHTTINCHKOIO MOBOIO.
2. Bunucatu 3 TEKCTY HOBI CJIOBA Ta 3pOOUTH 1X MEpeKIal.
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. YCHO mepeK1acTu TeKCT 3 aHIJIIIChKOT Ha YKPaiHCHKY MOBY.
. [lepeka3atu TeKcCT.

c) Text A. “ Soil degradation ”

. IIpounTaTtu TEKCT aHII1ICHKOK MOBOIO.

. Bunucatu 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH IX MEPEKIa.

. YCHO mepeKIacTu TEKCT 3 aHIJIChKOT Ha YKPaiHCHKY MOBY.
. [lepeka3atu TEKCT.

d) Text B. “10 ways to conserve soil ™.

. [IpounTaTu TEKCT aHTIAIIICHKOIO0 MOBOIO.

. Buncatu 3 TeKcTy HOBI CllOBa Ta 3pOOUTH 1X MepeKiIa.

. YCHO NepeKIacTu TEKCT 3 aHIJIIMChbKOI Ha YKPAaiHChKY MOBY.
. Ilepexa3aTu TEKCT.

e) Grammar:
The Infinitive

1. 3poOUTH KOHCIIEKT TPpaBUJ YTBOPEHHS Ta BXKMUBAHHS 1H(IHITIBY.
2. BukoHaTu TpeHyBaJibHI FpaMaTU4HI BIPABHU.

The Participle

1. 3poOuTn KOHCIIEKT MpaBWJI yTBOPEHHS Ta BxkuBaHHs 1 he Participle.
2. BukonaTtu TpeHyBaJlbHI rpaMaTH4HI BIPABH.

f) JlomariHe ynTaHHS:

a) TmepeKIia] TEKCTy 3a haxom

. CamocTiifHO BUOpaTH TEKCT 3 aHIJIOMOBHO1 HaykoBo1 cTaTTi (5 000 mp.3HaKIB)
. BunucaTu 3 TekcTy HOBI CJIOBa Ta 3pOOUTH iX MEpEeKIal.

. YCHO nepeK1acTy TEKCT 3 aHTJIHChKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. YcHe Summary

B) MEpeKyIaj CyCHJIbHO-TIOJITUYHOIO TEKCTY

. CamocTiifHO BUOpaTH TEKCT 3 aHIOMOBHO1 Ta3etu ( 5 000 ap.3HaKiB)
. BunucaTu 3 TekcTy HOBI CJIOBa Ta 3p0OUTH X TIEPEKIIaI.

. YCHO nepeKIacTu TeKCT 3 aHIJIMChbKOT Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary
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3.1.2. ITutaHHs A1 caMONePEeBIPKU

1. How has a world-wide environmental crisis resulted in?

2. Whom does the responsibility for natural holocaust rest with?

3. How does overexploitation of nature resources often resulted in?

4. What will it happen if the environment is not protected from pollution?

5.All the industrial units should be provided with treatment plants, shouldn't they?
6. Why many rare species of animals have become extinct?

7. What is responsible for damaging the ozone layer and epidemics?

8. Why the quality of life is deteriorating?

9. What do present methods of storage and disposal of many chemical wastes pose
risks to?

10. What are the traditional low cost methods of hazardous wastes disposal'?

11. What measures will be necessary to ensure safe landing and disposal of toxic
wastes?

12. What is soil degradation?

13. Why healthy soils are so important?

14. What kinds of soil degradation are?

15. What can water erosion be caused by?

16. What is the impact of raindrops on the soil surface?

17. How do you understand the term “the saltation effect™?

18. How can the wind cause the erosion?

19. What are the examples of chemical degradation?

20. What is physical deterioration? Why is it harmful for the soil?

21. From which a natural structure of soil does develop?

13. What is the quality of soil considerably affected by?

14. Where do harmful substances originate from?

15.What toxic elements in soils are the most monitored at present?

16. What kinds of soil degradation are?

3.2. Mooyae 3M-II2 “Water pollution”, “Marine pollution”, “Air pollution”,
“Problem: pollution”, The Gerund, Non-definite forms of the verb.

Jlitepatypa: [1, c. 43 - 48, ¢. 59 - 69]

3.2.1. IloByanHus

a) Text A. “Water pollution”.

1. [IpounTaTy TEKCT aHTTINCHKOIO MOBOIO.
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2. BunucaTu 3 TEKCTy HOBI CJIOBA Ta 3pOOUTH iX TIEPEKIIaI.
3. YCHO nepekacTi TEKCT 3 aHTUIMCHKOI Ha YKpaiHChKY MOBY.
4. Ilepeka3aTu TEKCT.

b) Text B. “Marine pollution”.

1. I[IpounTaTu TEKCT aHTIIMCHKOIO0 MOBOIO.

2. BunucaTu 3 TEKCTy HOBI CJIOBA Ta 3pOOUTH iX TIEPEKIIaI.

3. YCcHO nepeK1acTu TEKCT 3 aHITIMChKOT Ha YKPaiHCHKY MOBY.
4. Ilepeka3atu TEKCT.

c) Text A. “Air pollution”.

1. [IpounTaTy TEKCT aHIITINCHKOIO MOBOIO.

2. BunucaTu 3 TeKCTy HOBI CJIOBA Ta 3pOOUTH X MEpPEKIIal.

3. YcHO nepeksiacTu TeKCT 3 aHTIHCHKOI Ha YKPaiHChKY MOBY.
4. Ilepeka3aTu TEKCT.

d) Text B. “Problem: pollution”.

. [IpounTaTy TEKCT aHINTIMCHKOIO MOBOIO.

. Buniucatu 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH iX MEpPEKIIA/L.

. YCHO nepeKIacT TEKCT 3 aHTJIMChKOI Ha YKPaiHChKY MOBY.
. [lepeka3atu TEKCT.

AW N —

e) Grammar:
The Gerund.

[EEY

. 3po0OUTH KOHCIIEKT TPaBUJI YTBOPEHHs Ta BykuBaHHs The Gerund.
2. BukonaTtu TpeHyBalibHI IpaMaTH4HI BIPABH.

Non-definite forms of the verb.

[HEN

. 3pobutu nopiBHroBanbHUH KoHcTiekT Non-definite forms of the verb.
2. BukoHaTu TpeHyBallbHI FpPaMaTH4YHI BIPABH.
f) JlomaiiHe yuTaHHS:

a) mepeKIIal TeKCTY 3a paxom

1. CamocTiitHO BUOpaTH TEKCT 3 aHTJIOMOBHO1 HayKoBO1 cTaTTi ( 5 000 mp.3HAKIB)
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DN W N

DN B W=

1
2
3
4
5.
6
7
8
9.
1

0.

11.
12.
13.
14.
15.
16.
17.
18.
19.
20.

. BuncaTu 3 TekcTy HOBI CJIoBa Ta 3p0OUTH X TIEPEKIIaI.

. YCHO TepeKIacTi TEKCT 3 aHTUIMChKOI Ha YKPaiHChKY MOBY.
. [TucemoBe Summary.

. Ycue Summary

B) MepeKJIa/l CYCIUIbHO-TIOJITUYHOTO TEKCTY

. CamocrTiiftHO BHOpaTH TeKCT 3 aHrIoMOBHO1 Ta3etu ( 5 000 xp.3HaKiB)
. Bunucatu 3 TeKCTy HOBI ClIOBa Ta 3pOOUTH 1X MEpeKIal.

. YCHO mepeKIacTu TEKCT 3 aHIJTIIChKOT Ha YKPaiHCHKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

3.2.2. [lutanHs 17151 caMONepeBIpKU

. What are the main sources of ocean pollution?

. How do you understand the term “shoreline area”?
. What are marine sanctuaries being created for?

. What are there damaging effects of sound waves?

When does water pollution occur?

. Why do plants and animals require pure water?
. What are the major water pollutants?
. How can pollutants be separated?

How do petroleum products affect the animals?
Why can pesticides and herbicides be dangerous if they penetrate into streams,
rivers and lakes?
What do heavy metals result in?
How do fertilizers penetrate to water?
Why is the air so important?
What are the most dangerous pollutants?
What is a carcinogen? Why is it harmful?
What are the toxic elements in the air which affect the lungs?
What is smoge? How does it form?
What can be used to control emissions of dust in the air?
What can people do to achieve vast improvements?
How has the level of the sulphur dioxide in the air changed with the
introduction of cleaner coals?

3.3 Inoisioyanvne 3a60anns.

[HaiBiTyanbHe 3aBAaHHS 1€ TUCHMOBUH Tiepekiaa 1Box BuAiB TekcTiB (15 000

Ap.

3HAaKIB).
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1. ITepexnan Texcry 3a ¢axom (10 000 ap.3HakiB). JIJjist HOro BUKOHAHHS CTYACHT

MOBUHEH:
1. CamocTiitHO BUOpaTH TEKCT 3a (paxom (HayKoBa CTATTA Y HAYKOBOMY
KypHa).

2. Hanncatu cnicok He3HAHOMUX JJIsl HBOTO CJIIB Ta iX MEpeKyail.

3. Hanucatu nucbMOBHI TTepeKIIaj] TEKCTY.

4. YV 3a3HadyeHWi TEepMIH 3/aTH 3aBAaHHS (AHTHUCHKANA TEKCT, CIUCOK
HE3HAOMHX CHiB, mepekian) Bukiaanady. CTyIeHT 0O0OB’SI3KOBO MOBUHEH
BKAa3aTH JIKEPEIIO, 3 SIKOTO B3ATUH MEPEKIIAICHUN TEKCT.

2. [Tepexian cycminbHO-TIoNiTHYHOI JIekciku (5 000 ap.3HakiB). s ioro
BUKOHAHHS CTYJEHT TIOBUHEH:
1. CamocTiitHO BUOpaTH TEKCT 3a (paxom (CTaTTA 3 AaHTJIOMOBHOI I'a3eTH).
2. Hanncatu cricok HE3HAHOMUX JIJIs1 HBOTO CJIIB Ta iX Mepekyia.
3. Hamucatu nucbMoOBHI TTepeKIIaj] TEKCTY.
4. YV 3a3HayeHUil TEepMIH 3/1aTU 3aBJaHHsS (AHTIHCHKUNA TEKCT, CIUCOK
HE3HAMOMUX CIiB, mepekian) Bukianayy. CTyneHT o0OB’S3KOBO MOBHUHEH
BKa3aTu JHKEPETIO, 3 SIKOTO B3SATUHN NEPEKIaIeHU TEKCT.

Jlitepatypa: [ caMOCTiIiHO BUOpaHIi JpKepelia aHTJIOMOBHOT JIITEpaTypH .

4. IMTAHHA 10 3AXOA1IB IOTOYHOTI'O, HIJCYMKOBOI'O
TA CEMECTPOBOI'O KOHTPOJIIO

4.1. I'pamaTu4H1 3aBIaHHS 10 MOJYJIbHOI KOHTPOJIBHOI poOOTH Moty st 3M-
IT1.

Module control work Ne 1

Put the infinitives or the participles into the right form:

1. A great mistake that you can make in life is ( to think) you are always right. [2,
C. 294-331]

2. Joan likes taking care of sick animals. She is pleased ( to do) this kind of work
all the time. [2, c. 294-331]
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3. My younger brother hates to read; he prefers ( to read) to. [2, c. 294-331]
4. 1 was sorry ( to disturb) as I couldn't finish my conversation with Frieda. [2, c.
294-331]

5. Judging from the books and papers on his desk he must ( to work ) since they
left him in the morning. [2, c. 294-331]

6. There was nothing ( to do ), but to wait for the next train which was due at six.
[2, c. 294-331]

7. Don't disturb her. She went to bed very late. She may still ( to sleep ). [2, c.
294-331]

8. You warned me to stay away from Robert. I am sorry not ( to follow ) your
advice. [2, c. 294-331]

9. Jane ought to ( to teach ) two foreign languages. Why wasn't she, | wonder? [2,
C. 294-321]

10. This dress looks so old and worn out. It seems ( to make ) ages ago. [2, c.
294-331]

11. Itis difficult ( to find ) a friend who knows all about you and still likes you.
[2, c. 294-331]

12. It is not enough to have a good mind; the main thing is (to use ) it. [[2, c.
294-331]

13. 1 didn't notice anybody ( to pass) by. [2, c. 294-331]

14. Modern art is when you buy a picture ( to cover ) a hole in the wall - and
decide that the hole looks better. [2, c. 294-331]

15. To be the gainer you are ( to lose ) yourself; to be happy you are to forget
yourself. [2, c. 294-331]

16. 1 would like ( to invite) you and some of my other friends for dinner some
time. [2, c. 294-331]

17. Where do you and your friends plan ( to go ) for the next summer vacations?
[2, c. 294-331]
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18. (‘to repair) their car, they drove on, though it was past midnight. [2, c. 294-
331]

19. He was suspected (to conceal) important information from the police. [2, c.
294-331]

20. (to lose) control of his car on an icy road, the driver hit a tree. [2, c. 294-331]

22. Alice didn't like her Biology classes; she thought they were (to bore ). [2, c.
294-331]

23. Desmond wondered who it could be ( to come ) to the door, he flung it open.
[2, c. 294-331]

24. (to feel ) unwell, Len decided to stay away from classes for a few days. [2, c.
294-331]

25. Bitterly ( to disappoint ), the explorers set out on the return journey. [2, c.
294-331]

26. When Linda entered the room, she saw a lot of strangers and she felt ( to
embarrass ). [2, c. 294-331]

27. (towork) as a taxi-driver before, Leo knew every corner of the town. [2, c.
294-331]

28. They are glad (to do) all the work before. [2, c. 294-331]

29. It started to drizzle and we hoped it would cease soon, but instead of (to stop)
the rain increased. [2, c. 294-331]

30.The teacher wants (to tell) if the student can’t attend a lecture .
[2, c. 294-331]

31. She seems (to translate) this article since early morning.
[2, c. 294-331]

32. Beth likes (to run) every morning before breakfast.
[2, c. 294-331]

33. He was glad (to find) his gloves.
[2, c. 294-331]

34. Jane is sorry (to break) a cup.
[2, c. 294-331]

35. We were very pleased (to receive) their invitation.
[2, c. 294-331]
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36. The pupils want (to help) by his teacher.
[2, c. 294-331]

37. 1 am disappointed (to miss) him.
[2, c. 294-331]

38.She is pleased (to meet) her friend finally.
[2, c. 294-331]

39.1 expect (to tell) the news by them.
[2, c. 294-331]

40. He pretended (to sleep) and (not to hear) the telephone ring.
[2, c. 294-331]

41. They are lucky (to see) so many countries.
[2, c. 294-331]

42. My younger sister doesn’t like (to treat) like a child.
[2, c. 294-331]

43. Ann seems (to discuss) a very important problem now.
[2, c. 294-331]

44.This actor doesn’t like (to interview) by the reporters.
[2, c. 294-331]

45. (to write) out all the new words, | started to learn them.
[2, c. 294-331]

46. (to live) in Kyiv, he was able to see all the ancient monuments.
[2, c. 294-331]

47. (to hear) my friend’s voice, I left the room to open the door.
[2, c. 294-331]

48. We went home, (to look) through the documents.
[2, c. 294-331]

49. (to drink) coffee she was talking to her friend.
[2, c. 294-331]

50. (to go) down the street, the boy was looking back from time to time.
[2, c. 294-331]
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51. (to throw) the ball, the little girl ran home.
[2, c. 294-331]

52. | think that the man (to stand) there is her father.
[2, c. 294-331]

53. (to buy) food, they left supermarket.
[2, c. 294-331]

54.(to know) French well the pupil can translate this text.
[2, c. 294-331]

55. She entered the room (to smile).
[2, c. 294-331]

56. (to see) the stranger the dog began barking.
[2, c. 294-331]

57.(to bark) dog doesn’t bite.
[2, c. 294-331]

58. (to find) the keys, we were able to open the door.
[2, c. 294-331]

59.You make mistake (to judge) people by their appearance.
[2, c. 294-331]

60. The wind blew (to bring) the smell of coffee.
[2, c. 294-331]

4.2. 'paMaTryH1 3aBAAHHS 10 MOYJIbHOI KOHTPOJIBHOI poO0oTH Moy 3M-T12.

Module control work Ne 2

Put the right form of the participle, the infinitive or the gerund:
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. Money (to spend ) on the brain is never spent in vain. [2, c. 328 — 342, c. 273 —
288, c. 294 — 321]

. Janet was a wonderful dancer. | couldn't help (to impress ). [2, c. 273- 288]

. Anne was able to keep the kids still (put a necessary preposition ) telling them

an interesting story. [2, c. 273- 288]

. Ben asked to excuse him (put a necessary preposition ) not being able to get in
touch with me. [2, c. 273- 288]

. They looked at Julia in surprise as though ( to believe ) her story. [2, c. 328 —
342, c. 273 — 288, c. 294 — 321]

. Your reproach is not fair. | am surprised (put a necessary preposition ) your
having said this. [2, c. 273- 288]

. Helen seemed genuinely pleased ( put a necessary preposition ) seeing me. [2, C.
273- 288]

. Suddenly Stella noticed the smoke ( to come ) through the roof of one of the
houses. [2, c. 328 — 342, c. 273 — 288, c. 294 — 321]

. (‘to visit) the British museum before, | found the way there easily enough. [2,
C. 328 — 342, c. 273 — 288, c. 294 — 321]

10. The falling leaves made me think of the ( to approach ) autumn. [2, c. 328 —

342, c. 273 — 288, c. 294 — 321]

11. Much depends ( to put a necessary preposition ) your making a decision at the

right time. [2, c. 273- 288]

12. (to press ) Derek told Alice one of his invariable jokes and thus avoided the

confession. [2, c. 328 — 342, c. 273 — 288, c. 294 — 321]
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13. The teacher had to stop several times ( to explaine ) the rule because she saw
that it was difficult for the children to understand it. [2, c. 273- 288]

14. 1 don't like ( to wear ) these shorts; they are too tight. [2, c. 273- 288]

15. A penny saved is a penny (to gain). [2, c. 328 — 342, c. 273 — 288, c. 294 —
321]

16. He is said ( to be ) quite competent in this subject. [2, c. 328 —342, c. 273 —
288, c. 294 — 321]

17. Diplomacy is ( to do ) and saying the nastiest things in the nicest way. [2, c.
294-321]

18. Why not (to call ) him and ( to ask ) her address? [2, c. 328 — 342, c. 273 —
288, c. 294 — 321]

19. His parents ( to work ) abroad, he lives with his aunt and uncle. [2, c. 328 —
342, c. 273 — 288, c. 294 — 321]

20. 1 don't think you were made ( to hear ) it. [2, c. 328 — 342, c. 273 — 288, c.
294 — 321]

21. He has never let anyone ( to make ) a report for him. [2, c. 328 — 342, c. 273 -
288, c. 294 — 321]

22. Do you remember ( to stay ) with them when you were a schoolboy? [2, c.
328 — 342, c. 273 — 288, c. 294 — 321]

23. Hadn't you better ( to consult ) a doctor before taking this medicine? [2, c. 328
— 342, c. 273 - 288, c. 294 — 321]

24. One more team member is known ( to employ ), as it was hard to complete the
work ontime. [2,c. 328 — 342, c. 273 — 288, c. 294 — 321]

25. He must ( to invite ) by all means to this meeting. [2, c. 328 — 342, c. 273 —
288, . 294 — 321]
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26. Can anybody me how to use a computer? [2, c. 328 — 342, ¢. 273 —
288, c. 294 — 321]

27. 1t was nice of you me your Grammar book. Without it I would have
been lost. [2, c. 328 — 342, ¢. 273 — 288, c. 294 — 321]

28. Let's get together tonight. I want to talk about ...... a new business. [2, C. 328 —
342, c. 273 — 288, c. 294 — 321]

29. George has a Newfoundland dog, Strickland by name, and he is responsible
....... it twice a day. [2, c. 328 — 342, c. 273 — 288, c. 294 — 321]

30. His son's car crushed into a wall. The terrible tragedy prevented him ......
doing what was right or reasonable. [2, c. 328 — 342, c. 273 — 288, c. 294 — 321]

31. | believe I will still have an opportunity of ( to introduce ) you to my school
buddies. [2, c. 273- 288]

32. | am sorry for (to brake ) my promise. [2, c. 273- 288]

33. (to work) beside someone who has eaten garlic is as bad as (to sit) beside
someone who smokes. [2, c. 328 — 342, ¢. 273 — 288, c. 294 — 321]

34. This is used for (to cut) metal. [2, c. 328 — 342, c. 273 — 288, c. 294 — 321]

35. He is good at (to listen) to what people say. [2, c. 328 — 342, c. 273 — 288, c.
294 — 321]

36. | am tired of (to work) in the garden. [2, c. 328 — 342, c. 273 — 288, c. 294 —
321]

37. We are looking forward (to meet) with you. [2, c. 328 — 342, ¢. 273 — 288, c.
294 — 321]

38. She was not interested in (to hear) my excuses. [2, c. 328 — 342, c. 273 — 288,
C. 294 — 321]

39. | am very happy (to see) you again. [2, c. 328 — 342, c. 273 — 288, c. 294 — 321]

40. He can get into the house (to climb) through a window. [2, c. 328 — 342, c. 273
— 288, c. 294 — 321]

41. (to open) the door, she walked trough it. [2, c. 328 — 342, c. 273 — 288, c. 294 —
321]
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42. Are they interested in (to join) our expedition? [2, c. 328 — 342, c. 273 — 288, c.
294 — 321]

43. She improves her pronunciation with (to read) aloud. [2, c. 328 — 342, ¢c. 273 —
288, c. 294 — 321]

44. 1 was busy with (to cook). [2, c. 328 — 342, c. 273 — 288, c¢. 294 — 321]
45. The man (to teach) math at their school studied in Odessa. [2, c. 328 — 342, c.
273 — 288, c. 294 — 321]

46. (to translate) into a foreign language the story lost all its charm. [2, c. 328 —
342, c. 273 — 288, c. 294 — 321]

47. (to come) home she found nobody there. [2, c. 328 — 342, c. 273 — 288, c. 294 —
321]

48. He woke up (to think) of his parents. [2, c. 328 — 342, ¢. 273 — 288, c. 294 —
321]

49. (to be) a woman of taste she always dresses well. [2, ¢. 328 — 342, c. 273 —
288, c. 294 — 321]

50. There are some people (to come) in now. [2, c. 328 — 342, c. 273 — 288, c. 294
—321]

51. (to translate) seven articles, he decided to have a break. [2, c. 328 — 342, c. 273
— 288, c. 294 — 321]

52. The boy was reading the book (to make) notes. [2, c. 328 — 342, ¢. 273 — 288,
C. 294 — 321]

53. The articles (to write) by modern journalists differ from those written years
ago. [2, c. 328 — 342, c. 273 — 288, c. 294 — 321]

54. We study at the university (to find) hundred years ago. [2, c. 328 — 342, c. 273
— 288, c. 294 — 321]

55. (to be) busy, he could not answer my questions. [2, c. 328 — 342, c. 273 — 288,
C. 294 — 321]

56. (to write) out all the new words, | started to learn them. [2, c. 328 — 342, c. 273
— 288, c. 294 — 321]
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57. (to travel) about the Europe for two months, he returned home. [2, c. 328 —
342, c. 273 — 288, c. 294 — 321]

58. (to shake) hands with them, we continued our way. [2, c. 328 — 342, c. 273 —
288, c. 294 — 321]

59. (to collect) all the necessary materials, he began writing the report. [2, c. 328 —
342, c. 273 — 288, c. 294 — 321]

60. The (to steal) things were returned to the owner. [2, c. 328 — 342, c. 273 — 288,
C. 294 — 321]

4.3. TecToBi 3aBIaHHS 70 3aJ1KOBOI KOHTPOJBHOI pOOOTH.

Credit test
3 term
1. When Clyde looked at the girl closely, he remembered (to see) her in
Sondra’s company. [2, €. 328 — 342, ¢. 273 — 288, ¢. 294 — 321]

2. | hate (to bother) you, but the students are still waiting (to give) books for
their work. [2, c. 328 — 342, c. 273 — 288, c. 294 — 321]

3. He began writing books not because he wanted (to earn) a living. He
wanted (to read) and not (to forget). [2, c. 328 — 342, c. 273 — 288, c. 294
—321]

4. It seemed (to snow) heavily since early morning: the ground was covered
with a deep layer of snow. [2, c. 328 — 342, c. 273 — 288, c. 294 — 321]

5. Her ring was believed (to lose) until she happened (to find) it during the
general cleaning. It turned out (to drop) between the sofa and the wall. [2, c.
328 — 342, c. 273 — 288, c. 294 — 321]

6. They are supposed (to work) at the problem for the last two months. [2, c.
328 — 342, c. 273 - 288, c. 294 — 321]

7.He seems (to know) French very well: he is said (to spend) his youth in Paris.
[2, c. 328 — 342, c. 273 — 288, c. 294 — 321]

8. The woman pretended (to read) and (not to hear) the bell. [2, c. 328 — 342, c.
273 — 288, ¢. 294 — 321]
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9.1 consider myself lucky (to be) to that famous exhibition and (to see) so many
wonderful paintings. [2, c. 328 — 342, ¢. 273 — 288, c. 294 — 321]

10. You seem (to look) for trouble. [2, c. 328 — 342, c. 273 — 288, c. 294 — 321]

11. (to read) much about Africa, | was listening to him with great pleasure. [2,
C. 328 —342,c. 273 — 288, c. 294 — 321]

12.Women from 111 countries (to belong) to 132 national organisation took
part in the meeting in Prague in 1986. [2, c. 328 — 342, c. 273 — 288, c.
294 — 321]

13.(not to wish) to discuss that difficult and painful problem, he changed the
subject. [2, c. 328 — 342, ¢. 273 — 288, c. 294 — 321]

14.(to leave) in the hall by the old lady, he thought over the problem he was
planning to discuss with her. [2, c. 328 — 342, ¢. 273 — 288, c. 294 — 321]

15.The (to bore) man went to sleep during the discussion. [2, c. 328 — 342, c.
273 — 288, c. 294 — 321]

16.They saw overturned tables and chairs and pieces of (to brake) glass all
over the room. [2, c. 328 — 342, c. 273 — 288, c. 294 — 321]

17. (to read) the book, he thought that it was interesting. [6, c. 328 — 342, c.
273 — 288, c. 294 — 321]

18.(to rescue) the injured man was taken to hospital. [6, c. 328 — 342, c. 273 —
288, c. 294 — 321]

19. (to do) the question-and-answer exercises, the students began to write a
composition. [2, ¢. 328 — 342, c. 273 — 288, ¢. 294 — 321]

20. The test (to write) now is our final paper work. [2, c. 328 — 342, ¢c. 273 — 288, c.
294 — 321]

21. Can you remember (to see) the man before? [2, c. 328 — 342, ¢. 273 — 288, c.
294 — 321]

22. She was terrified of (to have) to speak to anybody, and even more, of (to
speak) to. [2, c. 328 — 342, ¢. 273 — 288, c. 294 — 321]

23. At last he broke the silence by (to invite) everybody to walk into the dining
room. [2, c. 328 — 342, ¢. 273 — 288, c. 294 — 321]
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24.

She congratulated herself on (to think) of such a good idea. [2, c. 328 — 342, c.

273 — 288, c. 294 — 321]

25.

| insist on (to tell) the truth to them. [2, c. 328 — 342, ¢. 273 — 288, c. 294 —

321]

26.

27.

28.

29.
30.

He gave up the idea of ever (to hear) from her. [2, c. 328 — 342, c. 273 — 288,

c. 294 — 321]

The poor peasant thanked Robin Hood heartily for (to help). [2, c. 328 —

342, c. 273 — 288, c. 294 — 321]

It shows that society is capable of (to identify) its most important pollution

problems, acting on them and (to improve) the situation. [2, c. 328 — 342, c.
273 — 288, . 294 — 321]

They now regret (to get married). [2, c. 328 — 342, ¢. 273 — 288, c. 294 — 321]
He doesn’t like (to interrupt). [2, c. 328 — 342, ¢. 273 — 288, c. 294 — 321]

Identify! Is a non-personal form of the verb a gerund or a participle in the
sentences? [2, ¢. 328 — 342, c. 273 — 288, c. 294 — 321]

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

Hearing a loud noise, we were shocked to move.

The driver was seriously injured during the accident and is now fighting for
his life.

She ruined her sight by playing computer games.

They saw a boy in the park standing on his head.

Speaking is a whole lot easier than doing.

Screaming the names of participants, the audience cheered the runners.
Smoking in public places is forbidden.

Jumping over the fence, the burglars managed to escape from the prison.
Nobody was surprised at John being absent.

They wasted their money on buying useless things.

Swimming is popular form of keeping one’s body fit.
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42. Michael was angry at Jill for trying to fool him.
43. The boy entered the room smiling.
44. Aren’t you afraid of telling the truth?

45. Singing to herself in a shower is something that makes her life wonderful.

4 cemecTp

2. MPOI'PAMA HABYAJIbHOI JUCHUILJIIHU

2.2. IlpakTani Moy 4 cemecTpy

Kon Ha3zBa moayns ta tem KibKiCTh rouH
aynutopsi | CPC
3M- | 1. a) Stratospheric ozone 2 15 |35 27
I13 b) Genetically Engineered Food is a Form of | 2 3,5
Pollution
¢) The greenhouse effect 2 3,5
d) Global warming 2 3,5
e) Grammar: Modal verbs, Conditional sentences | 4 7
(Type 1)
f) Jlomamre unTanHs (mepekiag TeKCTy 3a gaxom | 2 4
Ta Mepekiaja CyCnuIbHO-TIOJITUYHOTO TEKCTY)
2. MonynbpHa KOHTpobHa poboTa Ne 3 1 2
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3M- | 1.a) The chernobyl accident 2 145 |35 27
14 b) Our Planet and its Life, Origin and Futures. 2 3,5
¢) Nuclear bomb explosion 2 3,5
d) Nuclear war and its outcomes. 2 3,5
e) Grammar: Conditional sentences (Type II, IIl), |3,5 7
f) domanine untanns (mepexian Tekcry 3a gpaxom | 2 4
Ta MEPEKIIA] CYCHIILHO-TIOTITUIHOTO TEKCTY)
2. MonynbpHa KOHTpOIbHA poboTa Ne 4 1 2
3M-I3 | [TuchbMOBHIA TIEPEKITaT
CemecTpoBa 3alikoBa KOHTPOJIbHA poOoTa 0,5 2
30 60
Pazowm:
Koncynprartii:

berr Onbra OneriBHa: 3rijHO 3 3aTBepKeHUM rpadikoMm, ayautopis 607 (HIIK

Neo2)
2.3. CamocrTiiiHa poboTa CTy/IeHTa Ta KOHTPOJbHI 3aX01H y 4 ceMecTpi
Ko ) KinekicTh Ctpox
a 3aBnanHa Ha CPC Ta KOHTPOJIbHI 3aX011 p
MOJTYJISI TOJIMH | TPOBEACHHS
3M-II3| o IliaroTOBKA O YCHOTO ONMMUTYBAHHS, 14 1-7
MIJTOTOBKA IpaMaTHYHO1 TEMHU Ta IMArOTOBKA THXXIIEHD

JIOMAIIIHBOTO YUTAHHS
o [linroToBKa 10 BUKOHAHHS MOJYJIbHO1
KOHTPOJBHOT poboTu Ne 3
Konmponwhi 3axoou:
e YCHE ONUTYBaHHSA
e [lepeBipka MMCHbMOBO BUKOHAHUX CITUCKIB
HE3HAHOMUX CIIIB Ta iX MepeKsIa Ajisl YCHOTO
nepexsiaay TeKCTIB
o [lepeBipka MMCbMOBO BUKOHAHHHX
rpaMaTHYHUX BIIPaB
« MonaynpHa KOHTpOJIBHA poboTa Neo 3
(000B’s13K0OBE)
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3M-I14| o IligroToBKa J0 YCHOTO ONUTYBaHHS, 13 8—-15
MirOTOBKA rpaMaTUYHOI TEMU Ta MIATOTOBKA TUXKACHb
JIOMAIIIHbOTO YUTAHHS

e [linroTOBKa JJO BUKOHAHHS MOIYJIHHOL
KOHTpPOJIbHOT poboTu Ne 4
Konmponwhi 3axoou:
e YCHE ONUTYBAaHHSA
o [lepeBipka MICHMOBO BUKOHAHUX CITHCKIB
HE3HAMOMHMX CJIIB Ta IX MepeKIIa A YyCHOTO
NepeKIaay TeKCTiB
o [lepeBipka MICHMOBO BUKOHAHHHUX
rpaMaTHYHUX BIIPaB
o MoaynbpHa KOHTpOJIbHA poboTa Ne 4
(000B’s13KOBE)

3M-I3 | [TinroroBKa MUCHMOBOTO MIEPEKIIaaa 2 10 ta 12
(000B’s13KOBE) TYKHI
Konmponvnuii 3ax00:

e [TuceMoOBHII TIEpEKIIA]
(000B’s13KOBE)

[linroToBKa /10 3aJ1IKOBOT KOHTPOJILHOT pOOOTH 1
Konmponwvni 3axoou:
o 3aJ1iKOBa KOHTPOJbHA POOOTA

Pazowm: 30

1. MeToavka IpoBEAEHHS Ta OIIHIOBAHHS KOHTPOJBHOTO 3axony it 3M-T13.

MiHIMaIbHUM 00CAT 0a30BUX 3HAHB, I1T0 HEOOX1THHUH SIS 3aCBOEHHS 3M —
I13:
- YWTaTH, MepPeKJIaJaTh Ta epeka3dyBaTu Tekctu  Stratospheric ozone”,
“Genetically Engineered Food is a Form of Pollution”, “The greenhouse
effect”, “Global warming”;

— mnoscuutH BxxuBanus Modal verbs, Conditional sentences (Type D);
— HaBYMTHUCS yTBOproBaTH pi3Hi ¢popmu Conditional sentences (Type I);
— TMEpeKJIaCTU TEKCT 3a (haxoM 3 aHTJHCHKOI Ha YKPaiHChKY MOBY;

— MEpEeKJIACTU CYCHIIbHO-TIOMITUYHHUI TEKCT 3 aHTJIIHCHKOT Ha YKPAiHChKY
MOBH.

MaxkcumanbHa cyma 0aiiB 3a 000B’s13k0B1 3ax0au KOHTpouto 3 3M—II3 — 45 6anis:

1 3aBnannus — 27 OajiB:

JuB. Tabm1. 2.2
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a) 4 (1+1+1+1)
1 — ynTanus TCKCTY AHTJIIMCHKOK MOBOIO
1 — criMcoK He3HAOMHX CJIIB Ta iX epekiazg
1 — ycHMiT mepekiia TEKCTY
1 — nmepekas TeKCTy

b) 4 1+1+1+1)
1 — yuTaHHA TEKCTY aHTTIHCHKOI0 MOBOIO
1 — cicok He3HAHOMUX CIIIB Ta iX TepeKIa
1 — ycHuil nepekaa TEKCTy
1 — nmepekas TekcTy

c) 4 (1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cicok He3HAHOMUX CIIIB Ta iX MepeKia
1 — ycHu#t nepexsaa TeKCTy
1 — mepekas TekcTy

d 4 (1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAaMOMMX CIIIB Ta iX MepeKiIaa
1 — ycHull nepekiaa TEKCTy
1 — nmepekas TekcTy

e) 3 (1+1+1)
1 — muceMoBmii koHcmekT mpaBui mpo Modal verbs ta Conditional sentences
(Type I)

1 — nMChbMOBO BUKOHaHHI rpamMaTnyHi Bpasu nmo Modal verbs
2 — MMChbMOBO BHKOHAHHI rpaMaTtiuHi Brpasu 1o Conditional sentences (Type 1)

f) 8 (4+4)
4 (1+1+1+1) mnepeknaaTekcTy 3a Gpaxom

1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKiIaa
1 — ycHuit nepekiaa TeKCTy

1 — mucbMOBO BUKOHAHHE Summary

1 — ycue Summary

4 (1+1+1+1) mnepeknaa CyCribHO-TOMITUYHOIO TEKCTY

1 — cnucok He3HAOMUX CIIIB Ta iX MepeKIa
1 — ycHuii nepekaa TEKCTy
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1 — nucbMOBO BUKOHAHHE Summary
1 — ycue Summary

1 3aBnanHs (27 6aniB) He € 000B’SI3KOBHUM.

2 3aBaanus— 45 Oaiis:

Bukonauasgs MKP Ne 3

MonynpHa KOHTpOJIbHA poOoTta ckiaamaerbes 3 30 3aBmanp. KoxkHe 3aBmanas 1,5
OaniB. MoyllbHa KOHTpOJbHA POOOTa BBAXKAETHCSA 3apaxOBaHOIO, AKIIO HAJIAHO
MiHIMYM 16 NpaBHIIBHUX BIJIIOBIICH.

Axmo 3axoau 000B’S3KOBUX (POPM KOHTPOJIIO BHUKOHYIOTHCS CTYACHTOM
HIiCTsl CTPOKIB, BU3HAYEHHUX Y TIPOrpaMi HaBYAIbHOI IUCIUIUTIHHU, KITBKICTh OaliB,
0 MOXKE€ OTpUMATH CTYACHT, HE MOxke mepeBuiryBatu 60% Bilg MaKCHUMAaJIbHO
MO>KJIMBOI JUISI 11i€1 JOPMHU KOHTPOJIIO.

Ominka 3a okpemi (200 yci) MOAYINI 3HMXKYEThCS Y pa3i MPOMYCKIB 3aHITh
CTYJIEHTOM. 3a KOKHE MPOIyIIeHEe 3aHITTS 3HIKyeThesa 0,5 Oana, ane MiHIMalbHA
OIliHKA MICJISl 3HIXKEHHST HEe MOXe OyTH Huk4a 60% BiJ MaKCUMaJIbHO MOYJIUBOI.

2 3aBnadHdg (45 6amiB) € 000B’ I3KOBUM

2. MeToarka poBEJIEHHS TAa OIIHIOBAHHS KOHTPOJBLHOTO 3axonay st 3M-114.

MiHiMaJIBbHUM 00CAT 0a30BUX 3HAHb, I1T0 HEOOX1THUM 11 3aCBOEHHSI 3M —
[14:

- YMTaTH, EPEeKJIaJaTh Ta nepekasysatu Temu “The chernobyl accident
. “Our Planet and its Life, Origin and Futures”, “Nuclear bomb explosion
. “Nuclear war and its outcomes”;

— mnosicautH BxxkuBanHsa Conditional sentences (Type I, 11);

— HaBuuTHcs yrBoproBaTu Conditional sentences (Type I, I11).

— HABYHUTHCS BIAPI3HATA MK COOOIO PI3HI TUIH YMOBHUX PEUYCHB;

— TMEepeKJIaCTU TEKCT 3a (haxoM 3 aHTJIHCHKOI Ha YKPAiHChKY MOBY;

— MEpeKJIaCTU CYCHIIBHO-TIOMITUYHUM TEKCT 3 aHTJIIHCHKOT Ha YKPAiHChKY
MOBH.

MaxkcumanbHa cyma 0aiiB 3a 000B’s13k0B1 3ax0au KOHTpouto 3 3M—I14— 45 Gauis:
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1 3aBmaHHsa — 27 OalniB:

JuB. Tabm. 2.2

a) 4 (1+1+1+1)
1 — 9yUTaHHA TEKCTY aHIIIHCHKOIO MOBOIO
1 — cniucok He3HAlOMUX CIIIB Ta iX MepeKIa
1 — ycHul nepekaa TEKCTy
1 — nmepekas TekcTy

b) 4 (1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOTO
1 — cicok He3HAHOMUX CIIiB Ta iX TepeKIIa
1 — ycHwMIA IepeKiIal TeKCTY
1 — mepekas TekcTy

c) 4 (1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cnircok He3HAHOMUX CIIIB Ta iX MepeKia
1 — ycHu#t nepexsaa TeKCTy
1 — nmepekas TekcTy

d 4 (1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKiIaa
1 — ycHu#t mepekaaa TeKCTy
1 — mepekas TekcTy

e) 3 (1+1+1)

1 — nucpMoBHit KoHCTIeKT rpaBui po Conditional sentences (Type 11, 1)
1 — nrchbMOBO BUKOHaHHI rpamatuyHi Brpasu o Conditional sentences (Type I1)
1 — muceMOBO BUKOHAHHI rpamaTryHi BripaBu o Conditional sentences (Type IlI)

f) 8 (4+4)

4 (1+1+1+1) mnepeknaaTEKCTy 3a Gpaxom

1 — ciucok He3HAOMUX CIIIB Ta iX MepeKIa
1 — ycHuil nepeknaa TEKCTy

1 — nMchbMOBO BUKOHAaHHE Summary

1 — ycue Summary

4 (1+1+1+1) mnepeknaa CyCribHO-TOMITUYHOIO TEKCTY
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1 — ciucok He3HAMOMUX CITiB Ta 1X MEPeKIa
1 — ycHwMIA IepexiIal TeKCTy

1 — nMchbMOBO BUKOHaHHE Summary

1 — ycue Summary

1 3aBmanHs (27 6amiB) He € 00OB’SI3KOBUM.

2 3aBaaHHs— 45 OaiiB:

Bukonanasgs MKP Ne 4

MonynbpHa KOHTpoJiIbHA poOoTta ckiagaerbes 3 30 3aBnanb. Koxkne 3aBmanss 1,5
OaniB. MoaylbHa KOHTPOJbHA POOOTa BBAXKAETHCSA 3apaxOBaHOIO, SKIIO HAJaHO
MiHIMYM 16 MpaBHIIBHUX BIJIIOBIJICH.

Axmo 3axoau 000B’S3KOBUX (POPM KOHTPOJIIO BUKOHYIOTHCS CTYACHTOM
MICTsl CTPOKIB, BU3HAYEHUX Y TIPOrpaMi HaBYAIbHOI IUCIUIUTIHHU, KIJTBKICTh OaliB,
0 MOXKE€ OTpUMATH CTYACHT, HE MOxe mepeBuiryBatu 60% BiJg MaKCUMaJIbHO
MOXJIMBOI1 JUIs 11i€1 (HOPMHU KOHTPOJIIO.

OniHka 3a okpemi (200 yci) MOAYNl 3HMXKYETHCSA Y pa3l MPOMYCKIB 3aHATH
CTYJIEHTOM. 3a KO>KHE MPOIYyIIeHEe 3aHITTS 3HIKyeThesa 0,5 Oana, ane MiHIMalbHA
OITiHKA TTICTIs 3HIKEHHS He MOke OyTu Hivkda 60% Big MaKCHMAIIBHO MO>KIIABOI.

2 3aBnadHd (45 6amiB) € 000B’ I3KOBUM

3. MeToarka poBEJIEHHS TAa OIIHIOBAHHS 1HIIBIAVAJIBHOTO 3aBAAHHS 3M-13
(MUCHMOBOTO TIEPEKIIANY) .

InaiBimyanpHe 3aBIaHHS 1€ MUCBMOBHMM Iepekian nBox BumiB TekctiB (15 000
np.3HakiB). 1. Ilepexman tekcry 3a daxom (10 000 ap.3nakiB). 2. Ilepexnan
CyCNUIbHO-NIOJITUYHO] JieKciku (5 000 ap.3HaKIB).

MiHimManpHUNi 00CST MHCHBMOBOIO MEPEKJIaay, 10 HEOOXIMHWM Jii 3aCBOEHHS
HaBUYOK pOOOTH 3 1HO3eMHUM TeKcToM ckiagae 10 000 ap. 3HaKiB 3a ceMecTp.

[lepexnang TekcTy 3a ¢axoM OINHIOEThCA B 5 0aniB, Mepekian CyCHUIbHO
MOJIITUYHOT JICKCIKM OIIIHIOETHCA TEXK B 5 0ainiB. Ycboro iHaiBiAyadbHE 3aBAaHHS

oiHETHCS B 10 OaiB.

[npiBinyansue 3aBaanHs (10 6amiB) € 000B’SI3KOBHM.
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4. MeToarKa MPOBEICHHS Ta OHiHI—OBaHH}I CEeMECTPOBOTO KOHTPOJBHOI'O 3aX0AY.

3aiikoBa ceMecTpoBa KOHTpOJbHa poOoTa ckiamaerbcss 3 20 3aBmanb. KokHe
3aBjaHHs 5 OaiiB. 3ajgikoBa KOHTPOJIbHA poOOTa BBAXKAETHCS 3apaxOBaHOIO, SKIIO
HaJilaHo MiHIMyM 10 NMpaBWIBHUX BIIOBIICH.

KoHTpob MOTOYHNX 3HAHb BUKOHYETHCS Ha 0a31 HAKOMMUYYBAJIbHOT CUCTEMU
oprasizailii HaB4aHHS.

dakTnuHa cyma OaliB, SIKy OTPUMY€ CTYACHT 3a TEBHHUHA 3MICTOBHHIA
MOJyJib, MA€ CKIJIQJATHCS 13 PEe3yNbTaTiB BUKOHAHHS 3aXOJIB 3 KOHTPOJIO, IO
3allJJaHOBaHI 3a IIUM 3MICTOBHUM MOJyJIeM, Ta YpaxOBYBaTH CBO€YACHICTb
(HanmpuKIaa: CTYOEHT, SKUA TPOMYCTHB KOHTPOJBHHUU 3axim 0e3 TOBaXKHHX
npuYuH ab0 OTpPUMAaB HE3aJOBUIBHY OIIHKY, Ma€ TPaBO Yy TWKHEBUU TEpMiH
BUKOHATH 3aBJaHHS 1IbOTO 3aX0/1y 3 MAaKCUMaJIbHOIO CyMOIO 0alliB, €KBIBaJICHTHOIO
OLIHI[I He OuIbINIA HDK "3a70BUIHHO") BUKOHAHHS CTYJIEHTOM Tpadiky
HaBYaAJILHOTO MPOIIECY.

Cymu 0aniB, sIKi OTpUMaB CTYJEHT 3a BCiMa 3MICTOBHUMHU MOJYJISIMU HaB-
YaJIbHOI JUCHUIUIIHU, (POPMYIOTH KUIBKICHY OIIHKY (0an ycCHmilmHOCT1) 3a
HOiACYMKaMHM TIOTOYHUX KOHTPOJIOIOUMX 3aXOIB CTyJE€HTa 3 HaBYaJbHOI
TUCHHIUTIHK. Pe3ynbTaT MOTOYHOTO KOHTPOJIO 3aHOCATHCA /O IHTErpajbHOI
BiIoMOCTl. PillleHHs Npo JOMyCcK CTyAE€HTa [0 MiJICYMKOBOIO CEMECTPOBOTO
KOHTPOJIIO 3 KOHKPETHOI HaBYAJIbHOI TUCIUILIIH periaMeHTyeTbes [lomoskeHHsIM
PO TPOBECHHS IMiICYMKOBOTO KOHTPOJIIO 3HAHB CTY/CHTIB.

CTyZmeHT BBaXa€TbCs JAOMYNIEHUM [0 IMiJCyMKOBOIO CEMECTPOBOTO
KOHTPOJTIO, SIKIIIO BIH BUKOHAB BC1 BUIM PoOIT, epeadayeHi poOou0r0 HaBYaIbHOK
MIPOrpaMor0 TUCIMIUIIHU 1 HaOpaB 32 MOAYJIBHOIO CHCTEMOIO CyMy OajiiB HE MEHIIIE
50 (50%) Bing MakcuMalbHO MOXIHMBOI (000B’s3k0Ba vactuHa 100 OamiB) 3a
MPaKTUYHY YACTUHY.

[TimcyMKOBUM KOHTPOJIEM 3HAHB CTYJICHTIB € 3aJiK.

CryaeHT OTpUMY€E 3ajiK, KOJM BIH Ma€ Ha OCTaHHIA JICHb CEMECTPY
IHTErpajgbHy CyMy OajiB MOTOYHOIO KOHTPOIIIO, AocTaTHIO (60% Ta Ounblue) s
OTPUMAaHHS MO3UTHUBHOI OI[IHKKA Ta He MeHIle 50% Bil MAaKCUMAJIbHO MOMKJINUBOI
cyMH 0aJIiB Ha 3a/1IKOBi KOHTPOJIbHIN POOOTI.

InTerpanbha ominka (B) mo aucuurmuiiHi po3paxoByeThes 3a (popMysior0

B =0,75 x O3 + 0,25 x O3KP,

ne O3 — kinbKicHa OIiHKa (y BIJCOTKaxX BIJ MaKCHUMaJIbHO MOXIIMBOi) 3a
3MICTOBHUMH MOJYJISIMU;
O3KP - kinbkicHa omiHKa (y BIACOTKaX BiJi MaKCHUMAJIbHO MOKJIUBO)

3aJIIKOBOi KOHTPOJIBHOT POOOTH.
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3. PEKOMEHJAIII IO CAMOCTIMHOI POBOTH CTYJIEHTIB

3.1. Mooyab 3M-II3 *“ Stratospheric ozone ”, “Genetically Engineered Food
is a Form of Pollution”, “The greenhouse effect”, “Global warming”, Modal
verbs, Conditional sentences (Type I).

Jlitepatypa: [1, c. 73-80, 90 - 98]

3.1.1. [ToBuanHs

a) Text A. ““ Stratospheric ozone ”

. [IpounTaT TEKCT aHIITINCHKOIO MOBOIO.

. BuniucaTu 3 TekcTy HOBI CJIOBa Ta 3p0OUTH X TIEpEKIal.

. YCHO mepeK1acTu TeKCT 3 aHTJIHCHKOI Ha YKPaiHChKY MOBY.
. [TepexasaTu TekcCT.

B W N —

b) Text B. “ Genetically Engineered Food is a Form of Pollution .

. [IpounTaTy TEKCT aHIMMIICHKOIO MOBOIO.

. Bunucartu 3 TeKCTy HOBI CJIOBA Ta 3pOOUTH iX MEPEKIIA/I.

. YCHO MepeKIacTy TEKCT 3 aHIJIIHChKOI Ha YKPaiHChKY MOBY.
. [lepeka3atu TEKCT.

N WP —

c) Text A. ““ The greenhouse effect

. [IpounTaT TEKCT aHIITINCHKOIO MOBOIO.

. BuniucaTu 3 TekcTy HOBI ClioBa Ta 3p0OUTH X TIEPEKIIa/l.

. YCHO mepeK1acTu TeKCT 3 aHTIIHChKOI Ha YKPaiHChKY MOBY.
. [lepeka3atu TEKCT.

AW N =

d) Text B. “Global warming .

. [IpounTaT TEKCT aHINMINCHKOIO MOBOIO.

. BunucaTu 3 TekcTy HOBI CJIOBa Ta 3pOOUTH X TIEpEKIal.

. YCHO mepeKIacT TeKCT 3 aHTIHCHhKOI Ha YKPAiHCbKY MOBY.
. [lepeka3atu TEKCT.

AW N —

e) Grammar:
Modal verbs
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1. 3poOuTH KOHCTIEKT TTPaBUJI BYKUBAHHS MOJAIBHHX JIECHTIB Ta iX
€KBI1BaJICHTIB.
2. BukoHaTu TpeHyBaJlbHI I'paMaTHYHI BIIPaBH.

Conditional sentences (Type I)

1. 3poGuTH KOHCIIEKT ITPaBWJI yTBOPEHHSI Ta BXXUBAHHS YMOBHUX PEUYEHb
(tun I).
2. BukoHatu TpeHyBaJbHI IpaMaTUYHI BIPABH.

f) JomamrHe ynTaHHS:
a) MepeKIIa] TEKCTY 3a haxom

. CamocTiifHO BUOpaTH TEKCT 3 aHIIOMOBHO1 HaykoBO1 cTaTTi ( 5 000 1p.3HaKIB)
. BunucaTu 3 TekcTy HOBI ClIoOBa Ta 3p0OUTH iX MEPEKIIal.

. YCHO mepeK1acTu TeKCT 3 aHTJIHCHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

DN A W=

B) NIEPEKJIAJ CYyCHIIbHO-TIOJITUYHOIO TEKCTY

. CaMocTiiiHO BUOpaTu TEKCT 3 aHTJIOMOBHOI razetd ( 5 000 ap.3HaKiB)
. BunucaTu 3 TekcTy HOBI CJIOBa Ta 3pOOUTH iX NEpEKIa.

. YCHO MepeKIacTy TEKCT 3 aHIJIIHChKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

DN DW=

3.1.2. [lutanHs 17151 caMOTIEPEBIPKU

. What is stratospheric ozone?

. What does stratospheric ozone act as?

. What accelerates the breakdown of stratospheric ozone?
. Why is ultraviolet radiation so harmful?

. What measures should be taken to stop the losses of stratospheric ozone?
. How are UV-B levels measured?

. What does UV consist of?

. What is an ozone hole?

9. How do you understand the term “ozone levels”?

10. What is sunlight?

11. What kinds of the solar rays do you know?

12. What doest the solar radiation consist of?

13. What contributes to the formation of ozone holes?

CONO OB~ WN -
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14. What are the sources of UV radiation?

15. Where does radiation form?

16. What is the average temperature on Earth?

17. What is the greenhouse effect?

18. What will happen If global warming continues?

19 . What is the main cause of a significant increase in the earth's temperature?

20. What should be done to prevent serious harm of gasses emissions to human
welfare?

21. What are the rates of carbon dioxide concentration in the atmosphere?

22. What trace gasses contribute to the global warming?

23. What can be said about the additional warming effect of the trace gasses?

24. What are the expected consequences of global warming?

3.2.  Mooyas 3M-II4 “The chernobyl accident”, “Our Planet and its Life,
Origin and Futures”, “Nuclear bomb explosion”, “Nuclear war and its
outcomes ”, Conditional sentences (Type II, I11).

Jliteparypa: [1, c. 104 - 112, ¢. 117 - 124]

3.2.1. [loByanHus

a) Text A. “The chernobyl accident™.

1. [IpounTaTy TEKCT aHINTINCHKOIO MOBOIO.

2. BunucaTu 3 TEKCTY HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIa.

3. YcHO nepeksiacTu TeKCT 3 aHTIHCHKOI Ha YKPaiHCHhKY MOBY.
4. Ilepeka3aTu TEKCT.

b) Text B. “Our Planet and its Life, Origin and Futures”.

1. IIpounTaT TEKCT aHTIIIHCHKOI MOBOIO.

2. BunucaTu 3 TEKCTy HOBI CJIOBA Ta 3pOOUTH X TIEPEKIIaI.

3. YCHO nepeKi1acTu TEKCT 3 aHTIHChKOI Ha YKPaiHChKY MOBY.
4. Ilepeka3aTu TEKCT.

c) Text A. “Nuclear bomb explosion”.

1. [IpounTaTy TEKCT aHTTINCHKOIO MOBOIO.

2. BumnucaTu 3 TEKCTY HOBI CJIOBa Ta 3p0OUTH 1X MEpEKIIa.

3. YCcHO nepeK1acTu TEKCT 3 aHITIHChbKOT Ha YKPaiHChKY MOBY.
4. Ilepeka3aTu TEKCT.
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d) Text B. “Nuclear war and its outcomes”.

1. [IpounTaTy TEKCT aHIITINCHKOIO MOBOIO.

2. BunucaTu 3 TeKCTy HOBI CJIOBA Ta 3pOOUTH iX MEpeKal.

3. YCcHO nepeki1acTu TeKCT 3 aHTIHChKOI Ha YKPaiHChKY MOBY.
4. Ilepeka3atu TEKCT.

e) Grammar:
Conditional sentences (Type II, 111).

1. 3poOuUTH KOHCIIEKT NPAaBUJI YTBOPEHHS Ta B)KUBaHHS YMOBHHX pedeHb (Tu 1,
I10).
2. BUkoHaTu TpeHyBaJIbHI IPaMaTU4HI BIPABH.

f) JlomaiHe ynuTaHHS:
a) MmepeKIa] TEKCTy 3a haxom

. CaMocCTI1iiHO BUOpaTH TEKCT 3 aHTJIOMOBHOI HaykoBoi cTaTTi ( 5 000 1p.3HaKIB)
. BunucaTu 3 TekcTy HOBI CJIOBa Ta 3pOOUTH iX HEpEKIa.

. YCHO MepeKIacT TEKCT 3 aHTJIIMChKOI Ha YKPaiHChbKY MOBY.

. [TucemoBe Summary.

. Ycae Summary

DN AN W=

B) MIEpEKJIaj CyCHIJIbHO-TIOJITUYHOTO TEKCTY

. CamocTiifHO BUOpaTH TEKCT 3 aHIIOMOBHO1 Ta3eTtu ( 5 000 ap.3HaKiB)
. BunucaTu 3 TekcTy HOBI CJIOBa Ta 3p0OUTH X TIEpEKIIal.

. YCHO mepeK1acT TeKCT 3 aHTJIACHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

DN B WN =

3.2.2. IlutanHs U1l caMOTIepEeBIpKU

. Where is the Chernobyl station located?

. Where did most radioactive fallouts land?

. What does the Chernobyl accident symbolize?

. What short-term effects of radiation on the human being do you know?

. What longer-term effects on the humanity do you know?

. How much contamination did the Chernobyl accident release?

. How many people were involved in the cleanup of the 30 km evacuation zone
around the reactor?

~NOoO OoTh~ WDN PP
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8. Why were the levels of radioactive contamination in trees of the area continuing
to rise?

9. What kind of weapons is the most devastating nowadays?

10. What kind of nuclear blasts do you know?

11.What is the most dangerous kind of nuclear blast?

12.

13.
14,
15.
16.
17,
18.

19.

Why do temperatures of several tens of million degrees centigrade develop in

the immediate area of the detonation?

What determines the relative effects of nuclear blast?

What gives the nuclear explosion cloud a white appearance?

What gives the nuclear explosion cloud a dirty brown appearance?

When did nuclear proliferation start?

What do nuclear weapons symbolize?

What were the technological achievements that permitted for nuclear weapons
to be delivered anywhere in the world on a very short notice?

How many warheads are there in the world at the moment?

3.4 InoisioyanvHe 3a80aHHA.

[HaiBiMyanbHe 3aBAaHHS 1€ TUCEMOBUH TIepekiaa nBox BuAIB TekcTiB (15 000
JIp.3HAKIB).

1. ITepexnan Texcry 3a gpaxom (10 000 ap.3HakiB). Jljist HOro BUKOHAHHS CTYACHT
TTOBUHEH:

1. CamocTiitHO BUOpaTH TEKCT 3a (paxom (HayKoBa CTATTAd Y HAYKOBOMY
KypHaii).

2. Hanucatu cnircok He3HAHOMUX JIJIST HBOT'O CJIIB Ta iX IepeKIIa.

3. Hanucatu nuchbMOBUI NEpEKIaa TEKCTY.

4. YV 3a3HayeHWil TEepMIH 3/1aTU 3aBAaHHS (AHTIHCHKUNA TEKCT, CIUCOK
HE3HAMOMUX CIiB, mepekiian) Bukianady. CTyneHT o0OB’S3KOBO IMOBHUHEH
BKAa3aTH JIKEPEIIO, 3 SIKOTO B3ATUH MEPEKIIAACHUN TEKCT.

2. llepekian cycniyibHO-nIOMITUYHOI Jiekciku (5 000 ap.3HakiB). s ioro
BUKOHAHHS CTYJCHT MOBUHEH:

1. CamocTiitHO BUOpaTH TEKCT 3a (paxoMm (CTaTTA 3 AHTJIOMOBHOI I'a3eTH).

2. Hanucatu cricok He3HAaHOMUX JIJISI HBOTO CJIIB Ta iX MepeKIIa.

3. Hanucatu nucbMoBUi EpeKiaj TEKCTY.

4. YV 3a3HayeHWil TEPMIH 3/1aTU 3aBJaHHs (QHTUIMUCHKANA TEKCT, CIUCOK
HE3HaOMUX CJIB, mepekian) Bukiaaaauy. CTyIeHT 0O0OB’SI3KOBO MOBUHEH
BKAa3aTH JIKEPEIIO, 3 SIKOTO B3ATUH MEPEKIIAICHUN TEKCT.

Jlitreparypa: [ camocTiiiHO BUOpaHi Kepelia aHTIIOMOBHOT JIITepaTypH].
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4. IMTAHHA 10 3AXOJA1B IOTOYHOTI'O, HIICYMKOBOI'O
TA CEMECTPOBOI'O KOHTPOJIIO

4.1. I'pamaTuy4Hi 3aBIaHHS JI0 MOJIYJIbHOI KOHTPOJIbHOT poboT Moyiist 3M-T13.

Module control work Ne 3

1. Lisa ( must, would, should, can't ) get bored in her job. Her job is so boring. [2,
c. 138 — 160]
2. Jack ( has to, had to, should, must ) go to hospital yesterday. [2, c. 138 — 166]

3. ( can, need, must, should ) you wait a moment, please? [2, c. 138 — 166]

4. The situation was bad but it ( could, would have been, could have been, should
be ) worse. [2, c. 138 — 166]

5. 1 ( have, should, must, could ) to work tomorrow. [2, c. 138 — 166]

6. |1 am so angry with them. | ( can, should, could, must ) kill them! [2, c. 138 —
166]

7.1 ( can't, couldn't, mustn't, haven't, been able ) to sleep recently. [2, c. 138 —
166]

8. You ( could, ought to, shall, should ) have left your purse in the shop. [2, c.
138 — 166]
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9. This price is wrong. It ( should, would, could, must ) be $3.50, not $4.00. [2, c.
138 — 166]
10. It's strange that they ( should, would, could, must ) be late. [2, c. 138 — 166]

11. Jane was so tired. She ( should, must, would, could ) have slept for a week.
[2, c. 138 — 166]
12. He ( should, must, can, must ) be at home. He ( mustn't. needn't, shouldn't,

can't ) be out. [2, c. 138 — 166]

13. We haven't got much time. We ( needn't, can, should, must ) hurry. [2, c. 138
— 166]

14. Are you going to read the report? No, | ( shouldn't, can't, mustn't, needn't ). |
already know what it says. [2, c. 138 — 166]

15. If you want to become a teacher, you ( must, should, have to, may ) go to

teachers training college for four years. [2, c. 138 — 166]
16. If you (to take) your mobile phone into class, it (have to) be turned off. [2, c.

123 - 137]

17. If you (to drive) along the river bank it (to be) twenty miles out of your way.
[2, c. 123 — 137]

18. If he ... (practice) every day, he ... (become) a champion. [2, ¢. 123 — 137]
19. She ... (help) us if we ... (ask). [2, c. 123 —137]

20. When | (to cook) salads, | (to use) only olive oil. [2, c. 123 — 137]

21. Mary ... (meet) her friends from Italy if she ... (come) to the party. [2, c. 123
—137]

22. If temperature (to be) zero, water (freeze). [2, c. 123 — 137]

23. If astory (to be) interesting, | (read) it to my children. [2, c. 123 — 137]

24. If you (heat) water, it (boil). [2, c. 123 — 137]

25. If my sister ... (travel) to Japan, she ... (buy) a kimono for me. [2, c. 123 —
137]

26.1f | (to feel) well tomorrow, | (to stay) at home. [2, c. 123 — 137]

27.1f the weather (to be ) nice tomorrow, we can go to the beach. [2, ¢. 123 — 137]
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28.1t will be hard to find a hotel if we (to arrive) late. [2, c. 123 — 137]

29.The alarm will ring if there (to be) a fire. [2, ¢. 123 — 137]

30.1 am/will be surprised if they (to get) married. [2, c. 123 — 137]

31....you go to the party if they (to invite) you? [2, c. 123 — 137]

32.1f | (to be) late this evening, don’t wait for me. [2, c. 123 — 137]

33.What shall we do, if it (to rain)? [2, c. 123 — 137]

34.I’11 be able to understand you, if you (to speak) slowly. [2, ¢. 123 — 137]

35. If I (know) her better, I (introduce) you. [2, c. 123 — 137]

36. The journey takes about 3 hours by bus. You (get) there much sooner if you
(go) by train. [2, c. 123 — 137]

37. If I (have) money with me then, I (can lend) you some. [2, c. 123 — 137]

38. We (understand) the English teacher better if she (speak) more slowly. [2, c.

123 —137]

39. 1 like reading but we don't have books in our country house. If I (have)

books there, | (read) a lot in summer. [2, c. 123 — 137]

40. Idon’t know where he’s living now. If I (know) his address, I (write) to him.

[2, c. 123 — 137]

41. If they (to be) careful with the spelling of the new words, they (to get) a good

mark. [2, c. 123 — 137]

42. If global warming continues, temperatures (rise) [2, c. 123 — 137] even higher.

[2, c. 123 — 137]

43. What you (to do) if you (win) a million dollars? [2, c. 123 — 137]

44. 1f people (to stop) using cars completely, there (be) much less pollution. [2, c.

123 —137]

45. When it (rain) again, | (to forget) to bring my umbrella. [2, ¢. 123 — 137]

46. If | (to speak) English fluently, I (not/need) to take lessons. [2, ¢. 123 — 137]

47. 1f it (to be) so cold in Siberia, I (not to go) there in winter. [2, ¢. 123 — 137]

48. Tom will be at the party tonight. If | (to see) him, | (say) hello. [2, c. 123 —

137]
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49. If it (to rain) so much in the evening, you (to see) many umbrellas in the street.
[2, c. 123 - 137]

50. | (call) you when I (to get) home. [2, c. 123 — 137]

51. Where you (to live) when you (to move) out of your flat? [6, c. 123 — 137]

52. According to the weather forecast there is a chance of snow tomorrow. If it
(snow), | (need) to buy a pair of gloves. [6, c. 123 — 137]

53. Patrick is deciding whether to go to France or Spain on his next holiday. If
Patrick (go) to Spain, he (be) very satisfied. [2, ¢. 123 — 137]

54. Kate is out of work, but she goes shopping every day. If Kate (continue) to go
shopping, she (run out) of money. [2, c. 123 — 137]

55. It is a sunny day with clear blue skies. If it (rain), | (need) an umbrella. [2, c.
123 - 137]

56. Daniel has an exam tomorrow. If Daniel (pass) his exam, he (celebrate) with
his friends. [2, ¢. 123 — 137]

57. If you (not/put up) this shelf, you won’t have anywhere to put your books. [2,
c. 123 -137]

58. Unless you (to feel) any better, you can take the rest of the day off. [2, c. 123 —
137]

59. Sometimes if you ... (take) a chance, it pays off. [2, c. 123 — 137]

60. Keep you voice down in case he ... (overhear) us. [2, ¢c. 123 — 137]

4.2. 'pamMaTuyHi 3aBJaHHS 10 MOIYJIHHOI KOHTPOJIBHOI poOoTH Moyt 3M-114.

Module control work Ne 4

1. If you had told me we had run out of bread | (to buy) some. [2, c. 123 —
137]

2. Your brother (to become) much stronger if he (to take) cold baths regularly.
[2, c. 123 — 137]
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3. If the bus (to be) very crowded, you (to be) exhausted by the time you (to
get) to work. [2, c. 123 —137]

4. If 1 (to be) a famous singer, | (to get) a lot of flowers every day. [2, c. 123 -
137]

5. I'wish I (not to have) to do my homework every day. [2, c. 123 — 137]

6. If he (not to read) so much, he (not to know) English literature so well.
[2, c. 123 — 137]

7. |love sunny weather. | wish it (to be) warm and fine all the year round.
[2, c. 123 — 137]

8. She often wishes things (to be) different that day. [2, c. 123 — 137]

9. We (not know) about this meeting if the chairman (not tell) us.
[2, c. 123 — 137]

10. If you had been there what you (do)? [2, c. 123 — 137]

11. I think that if she (read) the play beforehand she (refuse) the part.
[2, c. 123 — 137]

12. Some people wish they (can) appear on a TVgame show and become
famous. [2, ¢. 123 — 137]

13. The man has brought us nothing but trouble. | wish | never (set) eyes on
him. [2, c. 123 — 137]

14. If you (not take) those photographs we wouldn't have been arrested.
[2, c. 123 — 137]

15. If it (be) summer the people (not sit) round that big fire. [2, c. 123 — 137]
16. If Jack (refuse) to come we (manage) without him. [2, c. 123 — 137]
17. She often wishes things (to be) different. [2, c. 123 — 137]

18. If Tom (to see) a car crash, he (to call on) the police and (to help) the people
inthe cars. [2, c. 123 —137]

19. If he (to learn) the poem, he (not to get) a bad mark. [2, ¢. 123 — 137]

20. 1 wish | (to pass) my driving test last Monday. [2, ¢. 123 — 137]
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21. If you (can) choose any company, which company would you like to work
for? [2, c. 123 — 137]

22. John works 12 hours a day. If John (not/to be) so busy, he (to have) more
time for his family. [2, c. 123 — 137]

23. Anne's boss is very demanding. If Anne's boss (not/to be) so demanding,
she (not/to be) so stressed. [2, ¢. 123 — 137]

24. Fabio and Carlo are best friends. If Fabio and Carlo (not/to be) best friends,
they probably (not/to be) living together. [2, c. 123 — 137]

25. Derek doesn't have a car. It takes him an hour to get to work. If Derek (to
have) a car, it (not/to take) him so long to get to work. [2, c. 123 — 137]

26. The Olympic Games are held every four years. If the Olympics (to be) held
every year, they (not/to be) so interesting. [2, ¢. 123 — 137]

27. Where would you go if you (can) go anywhere in the world? [2, c. 123 —
137]

28. What would you do, if you (to be) the president of your country? [2, c. 123
—137]

29. If she (to be) hungry, she would eat something. [2, c. 123 — 137]

30. If I was offered the job, I think I (to take) it. [2, c. 123 — 137]

31. If | were you, | (to tell) her how you feel. [2, c. 123 — 137]

32. Even if he (to ask) them, they wouldn’t have agreed to come. [2, c. 123 —
137]

33. If she (not/to threaten) him, he wouldn’t have left. [2, c. 123 — 137]

34. He (not/to go) with her if he had known she would behave so irresponsibly.
[2, c. 123 — 137]

35. I wouldn’t have been able to do it unless she (help) me. [2, ¢. 123 — 137]
36. If she (to be) more experienced, she would be more likely to get the job. [2,
c. 123 - 137]

37. If the food (not/be) so bad, we wouldn’t have complained. [2, c. 123 — 137]
38. Sa]tles (to increase) if the advertising campaign (to be) successful. [2, c. 123
— 137
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39. If you (to spend) less on clothes, you would be able to save some money. [2,
c. 123 - 137]

40. You had a very narrow escape. If your payments (to fall) into arrears, your
house (to be) sold to pay off the debt. [2, c. 123 — 137]

41. | think | was right to decide against this investment. If there (to be) some
potential for my capital to grow | (to invest) in that area. [2, c. 123 — 137]

42. If | were world leader, | (to try) to stop the destruction of the earth. [2, c.
123 —137]

43. | wish parents (to be) more concerned about her future. [2, ¢. 123 — 137]
44. If the baby (to sleep) better last night, | (not to be) so tired. [2, c. 123 —
137]

45. If she (to have) her laptop with her, she (to email) me. [2, c. 123 — 137]

46. If Luke (not to send) flowers to his mother, she (not to be) happy. [2, c. 123
—137]

47. If you (not be) so stubborn, we (not to have) so many arguments! [6, c. 123
—137]

48. If Julie (not to go) to Sweden, she (to go) to Germany. [2, ¢. 123 — 137]

49. If | (not to go) to the party, I (not to meet) Amanda. [2, c. 123 — 137]

50. If Julie (to like) chocolate, I (to give) her some. [2, ¢. 123 — 137]

51. If the children (not to eat) all that chocolate, they (not to feel) sick. [2, c.
123 —137]

52. If she (to study) Mandarin, she (to go) to Beijing. [2, c. 123 — 137]

53. If Mr Jones (to watch) the news every evening, he would know more about
politics. [2, c. 123 — 137]

54. I1f Mr Brown (to sell) his car last year, he would have got more money for
it. [2, c. 123 - 137]

55. If old Mrs White heard a strange noise, she (to call) the police. [2, c. 123 —
137]

56. If Peter (not to leave) earlier, he would miss the bus. [2, ¢. 123 — 137]

47



9.

57. 1f | (to have) good luck, I would have won the first prize. [2, c. 123 — 137]
58. If you had told me the truth, I (to help) you. [2, c. 123 — 137]

59. If I (to be) you, | would throw away all this old junk. [2, c. 123 — 137]

60. If | got the earlier bus, | (can) come home at 5 o'clock. [2, c. 123 — 137]

4.3. TecToBi 3aBIaHHSA 70 3aJ1KOBOI KOHTPOJBHOI pOOOTH.

Credit test

term

| wish I (not try) to repair my car. | only made it worse. [2, ¢. 123 — 137]

If I (not have) rubber gloves on | would have been electrocuted. [2, c. 123 —
137]

Most people (attend) the union meeting if they had longer notice of it. [2, c.
123 - 137]

If you (wait) a moment | (see) if he'sin. [2, c. 123 — 137]

Why don't you bring your car to work? If | (have) a car | (bring) it to work. [2,
c. 123 - 137]

If I (win) an enormous sum everybody (write) to me asking for money. [2, c.
123 —137]

If he (not know) the meaning of the words he may use a dictionary. [2, c. 123 —
137]

If you (care) to see some of my ads | (send) them round to your office. [2, c.
123 - 137]

You can use my phone if yours (not work). [2, c. 123 — 137]

10. I wish I (can) give up smoking. [2, ¢. 123 — 137]
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11. Where will you go when he (to come) to London? [2, c. 123 — 137]

12. It's a pity he never patented his invention. If he (patent) it he (make) a lot of
money. [2, c. 123 — 137]

13. If | (to stay) some more days in your town, | (to call) on you and we (to have) a
good talk. [2, c. 123 — 137]

14. 1f I (know) her address | (write) a letter to her. [2, c. 123 — 137]
15. He wishes he (know) something about cars. [2, c. 123 — 137]
16. If Tom (help) us the job (be done) in time. [2, ¢c. 123 — 137]

17. If I (have) a university degree | now (sit) in a comfortable office instead of
standing at a street comer selling newspaper. [2, ¢. 123 — 137]

18. 1 wish 1 (to consult) the teacher when 1 first felt that mathematics was too
difficult for me. [2, c. 123 — 137]

19. If you (not to hurry) you will miss the train. [2, ¢c. 123 — 137]

20. We'll be in time, if we (get) a lift. [2, c. 123 — 137]

21. If you (like) I (get) you a job in the company. [2, c. 123 — 137]
22. If you (hear) Ann could you please let me know? [2, c. 123 — 137]

23. 1 wish you (to go) skiing with me yesterday: | had such a good time. [2, c. 123 —
137]

24. If you (to speak) English every day, you (to improve) your language skills. [2,
c. 123 - 137]

25. We (go) for a walk, if the weather (to be) good tomorrow. [2, c. 123 — 137]
26. (to write) the composition long ago if you (not to disturb) me. [2, c. 123 — 137]
27. My aunt wishes she (to stay) at home last week-end. [2, c. 123 — 137]

28. If you (not to put) the cup on the edge of the table, it (not to brake). [2, c. 123 —
137]

29. What we (to do) if it (to rain) tonight? [2, c. 123 — 137]
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30. You (to pass) many towns and villages on your way before you (to arrive) in
Kiev. [2, c. 123 - 137]

31. If she (not to help) me, I (to be) in a very difficult situation. [6, c. 123 — 137]
32. | wish it (to be) sunny. [2, c. 123 — 137]

33. If you (to put) the ice cream into the refrigerator, it (not to melt). [2, c. 123 —
137]

34. The boy is sad. He wishes he (not to break) the window. [2, c. 123 — 137]
35. | (to see) you before you (to start)? [2, c. 123 — 137]
36. I wish I (can) tell the future. [2, c. 123 — 137]

37. If we (to be) tired, we (to stop) at a small village halfway to Kiev and (to have)
a short rest and a meal there. [2, c. 123 — 137]

38. If it (to be) very cold tonight, our car (not to start) in the morning. [2, c. 123 —
137]

39.You (to understand) the rule if you (not to miss) the teacher’s explanation. [2, C.
123 - 137]

40. If my daughter (to do) her homework carefully, she (to get) much better marks.
She’s really a smart girl. [2, c. 123 — 137]

41. The time of their arrival is wrong. It ( should, would, must, could ) be 4.40
a.m., not 4.00 p.m. [2, c. 138 — 166]

42. ( should, would, can, shall ) you please be quiet? I'm trying to read. [2, c. 138
— 166]

43. Jane was so tired. She ( would, should, could, must ) have slept for a week.
[2, c. 138 — 166]

44. ( must, may, have to, could ) I have one of these cakes? [2, c. 138 — 166]

45. He must (to be) to Poltava before. [2, c. 138 — 166]
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5. ITEPATYPA J1JIA BUBYUEHHSA JUCHUIIJITHU

OcHoBHa JiTepaTypa.

1. MeroauuHi BKa3iBKM JO MPAKTUYHUX 3aHATH 3 HABYAIBHOI JUCHUILIIHH

«aHTJIHChKa MOBa» IS CTYACHTIB 2 POKY JICHHOI Ta 3a04HO1 JOPMU HABUAHHS.

Hanpsim migroroBku: 101 «Exonoris». Yknagadi: cr. Bukiamad Kypenina
O.10., Buknanau ber; O.0., Oxeca: OJIEKY, 2021. — 155 c.

2. lpoznosa T.1O., bepectoBa A.U., Maunoa B.I'. English Grammar. References

and Practice with a separate key volume. — Cankr-IletepOypr.: «AHTOIOTHS,
2013. — 464 c. (https://obuchalka.org/20180815103088/english-grammar-
drozdova-t-u-berestova-a-i-mailova-v-g-2005.html)

JlonatkoBa JiTepaTypa.

. 30ipHUK BIIpaB 3 TPaMaTUKHU aHTIACHKOI MOBH JIJIsl CTYJIEHTIB O4HOI (hopmu
naBuanHs III cemectpy. Hanpsim miiroroBku: yci HanpsMKu. YKiagadi:
Kynenina O.1YO., baeea B.M. Oneca — OJIEKY, 2001 p., 28 c.

MertoauyHi BKa3iBKM J0 TMPaKTUYHUX 3aHATH 3a PO3AIJIOM T'paMaTUKH
,»2MoJanpH1 JiecioBa B aHMIMCBKIA MOBI” mng cryneHTiB Il kypcy neHHoi
dbopmu HaBuaHHs. HampsM miarotoBku: yci HampsMku. Ykianad: Kynenina
0.10., Oneca — OJAEKY, 2006 p., 26 c.

MeroauuHi BKa3iBKM [0 TMPaKTUYHUX 3aHIATh 3a PO3AUIOM TIpamMaTHKU
»MUHYIINNA Yac y cy4yacHId aHTTHCHKIM MOBI” njsi cTyAeHTiB I Kypcy AeHHOi
dbopmu HaBuanHs. HampsMm miaroroBku: yci HampsMku. Ykianad: Kynemnina
0.10., Oneca — OAEKY, 2006 p., 24 c.

6. boux H.A., Kotuii I'.A., JlykesnoBa H.A. Yuebuuk anrnuiickoro sizpika. B 2-x

4. — M: Tosapuiectso "/Iekont", 1994.

7. Ayopoun M.U. Situational Grammar. - M.: "IIpocsemenne", 1986. — 416 c.
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9. Kioys P.A. Reference Grammar for students of English. - M: "IIpocBemienue",
1979 —352c.
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— Kummnes: "Jlymuna", 1992. — 653 c.

12. Hornby A.S. Oxford Advanced Learner's Dictionary of Current English. —
Oxford University Press, 1974. - 1035 c.

13. Murphy R. Essential Grammar in Use. A selfstudy reference and practice book
for elementary students of English. — Cambridge: University press, 1990. — 254
S.
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